Wadkin

.

‘Wadkin’ Thr h Feed
Four Side Plafiing Machine *

andoﬁ?loulder

J@odel GS
&

M/CNo. 65 2008
TEST No.

Instruction Manual

www.DaltonsWadkin.com



www.DaltonsWadkin.com

www.DaltonsWadkin.com



www.DaltonsWadkin.com

PREFACE

IMPORTANT
OQQ

O
&
UR SUPPLIERS TO
ND CAPACITY OF OUR
E WOULD REMIND OUR
ENSIONS AND PERFORMANCE
URRENT AT THE TIME OF GOING
TDUE TO THE INCORPORATION OF
TS TO ENHANCE PERFORMANCE,
PLIERS MAY VARY FROM THOSE

IT IS OUR POLICY AND THAT
CONSTANTLY REVIEW THE DES
PRODUCTS. WITH THIS IN
CUSTOMERS THAT WHILE TH
DATA CONTAINED HEREIN
TO PRESS, IT IS POSSIBL
THE LATEST DEVEL
DIMENSIONS AND
LLUSTRATED ~ {\°

THIS MANUAL§ RITTEN AS A GENERAL GUIDE. DUE TO THE
NUMBER OF VARIATIONS (OPTIONS) AVAILABLE A TYPICAL
MACHINE IS SHOWN TO ILLUSTRATE THE MAIN FEATURES.

www.DaltonsWadkin.com



www.DaltonsWadkin.com

www.DaltonsWadkin.com



www.DaltonsWadkin.com

INSTRUCTION MANUAL

WADKIN
N\

THROUGHFEED FOURSIDE
PLANING MACHINE A OULDER
Mor@@
P.Q%ACE
O
Ith and Safety
guarding machines

www.DaltonsWadkin.com iid



www.DaltonsWadkin.com

www.DaltonsWadkin.com



www.DaltonsWadkin.com

HEALTH AND SAFETY

This machine is designed and constructed using
the principles of safeguarding and practical
guidance contained in the British Standard
Codes of Practice BS5304: 1988 "Safeguard of
machinery", BS6854: 1987 "Safeguard
woodworking machines" and cument guidance
issued by the Health and Safety Executive.

The Health and Safety at Work etc Act 1974
places duties in designers, manufacturers and
suppliers to ensure that:-

1.  Arlicles supplied for use at work are, so far
as i3 reasonably practicable, safe and
without risks to health during setting, use,
cleaning and maintenancsa.

2 Persons supplied with the articles are
provided with adequate information about
the use for which they are designed, and
about conditions necessary to ensure tha

they will be safe and without risks to haam@

These duties are transferred to you if you
the machina by way of sale, lease, hi
purchasa.

Pearsons who install this mamin@uaﬂ at work

have a duty under the Health and,Safety at Work
etc Act 1974, to ensure is reasonably
practicable, that nothin @ way in which it
is installed makas it @ or a risk to heaith.
This includes such as correct assembly,
electrical installation, construction of enclosures,
fitting of guards and exhaust ventilation
equipment., When Installing the machine,
consideration must be given to the provision of
adequate lighting and working space.

re-

The legal duties of designers, manufacturers,
importers, suppliers, erectors and Installers are
explained in the free Health and Safety Executive
leaflat IND (G) 1 (L) 1987,

The machine is supplied complete with all
necessary safeguards to enable the user to
comply with the Woodworking Machines
regulations 1874, Detalls of correct installation
and use, together with guidance on fitting and
proper adjustment of guards are described in
Sections 1 to 4 of this manual,

You are reminded that the Woodworking
Machines Regulations place absolute legal duties
on empioyers and employees to ensure that
guards and any other safety devices are secursly
fitted, correctly adjusted and properly maintained.

Repairs and maintenance must anly be
undertaken by suitably qualified and compstent
technicians. Ensure that ail power supplies are
isolated before any maintenance work
commences. Instructions civoutine maintenancs
ara given in Section s manual,

Machine opqratar(q).rst have recsived sufficient
training and | Gtion as to the dangers arising in
connectio the machine, the precautions 1o
be ob %and the requirements of the
Woud g Machines Regulations which

Bxcept where they work under the
te supervision of a person who has a

ofough knowledge and experience of the
achine and the required safguards.

Persons under the age of 18 years must
successfully completea an approved course of
training before operating this machine at work,
unless participating in a course of training under
adquate supervision, (N.B. This paragraph is only
relavant to; circular sawing machines, any sawing
machines fitted with a circular blade, any planing
machine for surfacing which is not mechanically
fed or any vertical spindle moudling machine.)

Bafore commencing work, ensure that the cutters/
blades are, set to cut in the comect direction,
securely fitted, sharp, and are compatible with the
machina and spindle speed.

Dust

Wood dust can be harmful to health by inhalation
and skin contact and concentrations of small dust
particles in the air can form an explosive mixture.
These concentrations usually occur in dust
extraction equipment which may be destroyed
unless explosion precautions have been taken in
the design and installation of the equipment.

www.DaltonsWadkin.com



www.DaltonsWadkin.com

Wadkin

Employees have duties under the Factories Act
1861 and Health and Safety at Work etc Act 1974
te control wood dust in the workplace and from 1st
Ccleber 1989 more specific requirements will be
imposed by the Cantrol of Substances Haxardous
o Health Regulations 1988,

Employars should carry out an adequate
assessmeant of the possible risks to health
associated with wood dust to enable a valid
decision o be made about the measures to
control the dust. It may be necassary to provide
effective axhaust appliancas.

Pravention or control of wood dust exposure
should so far as is reasonably practicable, be
achiaved by measures OTHER than the
provisions of personal protective equipment.

Airborme dust levels should not exceed § mg/
cub.m

Further information and refarence io pratical
guidance are contained in the following free
leaflets from the Heaith and Safety Executive:-

Wood dust:
Haxards and precuations

Control Hardwood Dust  IND(S) 21 (L
Noise
MNoise levels can vary machine 1o

tions of use.
lavels, even for a

machine depending on
Persons exposed to hig
short time, may ex temporary partial
hearing loss and s exposure to high
lavels can result In permanent hearing damage.
The Woodworking machines Regulations require
amployers to take reasonably practicable
measures lo reduce noise levels where any
person s likely to be exposed to a continuous
equivalent noise level of 90 dB(A) or more, over
an 8 hour working day. Additionally, suitable ear
protectors must be provided, maintained and
wom.

An adequate assessment of likely noise exposure
should be made using manufacturers date and if
necessary, a noise survey should be carred out
by a competent person. [t may be necessary to
construct a suitable noisa enclosure, in which
case professional advice should be saught

Machines identified as generating unhealthy ncise
levels should be approprately marked with a
waming of the need to wear hearng protection
and it may be necessary to designate particular
areas of the workplace as "Ear protections
zones", Suitable waming signs are specified in
the Safety Signs Regulaticns 1980,

Further information and reference are contained
in the free Heaith and Safety Executive leaflet -
MNoise at Woodworking Machines IND(S) 22(L)
1988.

O

IND(S) 10 (L) 1987 06

www.DaltonsWadkin.com



www.DaltonsWadkin.com

SAFEGUARDING MACHINES

To comply with the Woodworking Machines Regulations 1974, operators must ensure
that they fully understand the instructions given and have received sufficient training in
the use of the machine and the particular safety instructions to be observed.

NOTE: Persons under the age of 18 years must not operate the machine except
under supervision during a course of training.

BEFORE OPERATING THE MACHINE ENSURE THAT:-

All guards and fences are securely fitted and correctly adjustec@:ordanca with the

Regulations. 0
Cutters / Blades are the correct type and rotate in mr@kﬁirecﬁan of cut, are sharp
and securely fastened. \ l\

Correct spindle speed is selected for the cutter ment.
Loose clothing is either removed or faste%eﬁm jewellery removed.

Suitable jigs and push sticks are av@é as appropriate.

Sufficient working space is prurﬁ' and lighting is adequate.

All dust extraction equi;gn’ switched on, properly adjusted and working efficiently.
DURING MACHININ

Wear suitable prb&th.ra equipment, e.g. goggles, ear defenders, and dust mask.
Stop the machine before making adjustments or cleaning chips from the work area.
Keep the floor area around the machine clean and free from wood refuse.

Do not allow the floor to become slippery with oil or grease

Report immediately to a person in authority, any machine malfunction or operator
hazard. Do not attempt to repair the machine unless qualified to do so.

Ensure all power sources are isolated before commencing any maintenance work

WARNING: Failure to comply with the Regulations is a criminal offence and could
result in legal proceedings.

www.DaltonsWadkin.com o
v il



www.DaltonsWadkin.com

www.DaltonsWadkin.com



www.DaltonsWadkin.com

CONTENTS

SECTION 1

SECTION 2

GENERAL DESCRIPTION

Operating Practice
General notes
Machine feed systems
Noise
Common operating problems

Leading particulars

Principal dimensions and capacities
*
é*\'o

Lifting and Tmn:pnrhtla@

Output of motors
INSTALLATION

Unloading

: )
Moving Q
S ,§@

Insﬂlhﬂnn@
Major psions and weight
Locati nd foundations

S and seryices

\)




www.DaltonsWadkin.com

-
-
m
o
=
un

i

SECTION 3 OPERATING INSTRUCTIONS

General Information
Safety

Safety devices @
Warnings O

Machine controls 0

Machine enclosure .

Mounting the Cutterblocks 8&\0

General

To change cutterblocks @
Hydrogrip cutterblocks

Safety collars 6

Setting up the M
Set infeed tabhb fence

Set feed rg
Set linked % roller and driven table roller
First m Head

Fen Head
N e Head
Head

Second Bottom Head
Final adjustments and settings

Faults in the Workpleces and Causes
General
Faults caused by tools
Faults in grinding and setting

Cleaning the Machine

www.DaltonsWadkin.com



www.DaltonsWadkin.com

CONTENTS

SECTION 4

SECTION 5

MAINTENANCE

Scheduled Maintenance
Lubrication
Vee belt tensioning

Cleaning O

Preparation prior to fitting beap
Replacing drive belts

Removal and refit drive
Variable speed drive p S
Feed roll drives and xes
Cutters and too rs

*
Unscheduled Maintenance \Q
Changing cutterblock spindle t:@&

Fault Findi (b
Mechanica Its
Elimina of vibration
El ults

T

Approved lubricants
Motor and Drive beit data

ILLUSTRATED PARTS LIST

www.DaltonsWadkin.com

xi



www.DaltonsWadkin.com

www.DaltonsWadkin.com



€
§

www.DaltonsWadkin.com

LISTOFILLUSTRATIONS

Section 1

Section 2
Fig 1

Section 3

Fig 1
Fig 2
Fig 3
Fig 4
Fig 5
Fig 6
Fig 7
Fig 8
Fig 9
Fig 10
Fig 11
Fig 12
Fig 13
Fig 14
Fig 15
Fig 16
Fig 17
Fig 18
Fig 19
Fig 20

Section 4

Fig 1
Fig 2
Fig 3
Fig 4
Fig 5

Operating practice (Figs in text)

Lifting the machine

Control panel
General machine controls and adjustmarb
Hydrogrip cutterblocks

Safety collars

Infeed table setting .
Feed roll setting \p
Feed roll spacing details

Linked top roller and dri @ roller
First bottom head

Head controls - Firs m Head

Fence side head

Hand control side head
Near side h%\,
Hand co m@. Near side head
Hand d:é: Top head
Tcp
ntruls Second bottom head
nd bottom head

ehce side head pressure setting
ear Side head chipbreaker setting

Vee belt tensioning

Spindle unit bearing assembly
Removing a taper-lock bush
Simplabeit variable speed drive unit
Feed roll drives and gearboxes

- www.DaltonsWadkin.com
xiil



www.DaltonsWadkin.com

Wadkin
SECTION 53 [LLUSTRATED PARTS LIST
SECTION 5
Fig 1 Bedplates
Fig 2 First and second bottom head height adjustment
Fig 3 Fence and near side head carriage adjusting mechanism
Fig 4 Top head height adjustment including powered rise and fall
Fig 5 Bottom (excluding first) and top head axial adjustment
Fig 6 Beam power rise and fall
Fig 7 Simplabeilt variable speed drive unit
Fig 8 Drive shafts to rise and fall of beam an’a head
Fig 9 Top head chipbreaker, pressure pad xtraction hood
Fig 10 Double side roller pressure unit
Fig 11 Mounting for top pad or roller pre@m unit before Top head.
Fig 12 Top roller pressure unit N\

diameter square shoulder
diameter square shoulder

- 40mm diameter square shoulder
unit - 40mm diameter square shoulder
ure unit opposite fence side head

ssure unit - infeed

Fig 13 Bottom head spindle unit -
Fig 14 Top head spindle unit -
Fig 15 Fence side head spin
Fig 16 Near side head spi
Fig 17 Single side roller
Fig 18 Single side rol

Fig 19 Anti-kickba ers
Fig 20 Feed roll s and gearboxes
Fig 21 Near ad chipbreaker

Fig 22 Fegs’

www.DaltonsWadkin.com

Xiv



www.DaltonsWadkin.com

General notes on all modaels of Wadkin
Planing and Moulding Machines

A planing and moulding machine produces planed
or moulded surfaces on all four sides of lengths of
timber, both hard and softwood, at feed speeds
determined by the cutter equipment and quality of
surface finish requried.

A series of ‘ridges’ (cutter marks) is created on the
surface of the timber as it is moved past a rotating

OPERATING PRACTICE SECTION |
SECTION 1 GENERAL DESCRIPTION
OPERATING PRACTICE
| O |
| |
—
ez« O\

cutterblock (see Fig 1). The quality of surfaca

finish is determined by the number of knifa marks

per 25mm (1") (the pitch of the cutter marks). The

;Iaur the pitch the better the quality of surface
nish.

The W
this

ydrofix locking system eliminates
by pressurising the bore of the
onto the spindle (see Fig 3).

o

| locking is not required and a Isimp!a safety

4

““Xollar s recommended to prevent the cutterblock

Q‘ moving axially, or rotating on the spindle, if the

hydraulic pressure is not applied.

t o & J 3 o 8 )

sumn

FIG 1 $

K\
From experience a &uﬂw surfacs finish has
knife marks at a pitch of 1.5 to 2mm. Reducdng
the pitch improves the surface finish but increases
the wear on the cutters, increasing the pitch
raduces the quality.

The number of cutter knives In a cutterblock will
only be effective when all are rotating in precisely
the same cutting circle. Two main factors
influence this.

a. The fit of the cutterblock on the spindle
b. The concentricity of grinding

The conventional method of mounting a
cutterblock is to lock a plain bore block on to a
plain ground spindle with a locknut. The
tolerances in each component give a possible
0.05mm (0.002") clearance in the bore and thus
eccentric running (see Fig 2).

_l [ll-l:![lll_]i

FIG3

Because the Hydrofix locking is also used while
the knives in the cutterblock are ground in the
toolroom, it can be seen that the high accuracy of
the grinding process is transferred directly fo the
planing and moulding machine. This accuracy,
together with the true running of the precision
spindle of the moulder, reduces the running of the
knives to within 0.002 to 0.005mm of the true
cutting circle. However, this minimum run-out is
still such that only one knife leaves a finishing cut,
no matter how many are in the block

To ansure that all the knives in a cutterblock run in
an absolutely true cutting circle, the tecnique of
jointing s used, in which the jointing 'stone’ trues
all the knives while rotating at cutting speed in the
planing and moulding machine (see Fig 4).

www.Daltons\Wadkin.com,

1-1



SECTION1

www.DaltonsWadkin.com

OYPE]
MY E

RATING PRACTICE

Components are stacked in a hopper at the infeed
and of the machine and automatically fed one ata
time from the bottom of the stack at a rate to
ensura 'butt-up’. A slipping device prevents the
hopper feed trying to overide the machine feed.

Feeding at very high feed speeds, typically on
flooring, cladding etc, also presents problems to
the operater, again a special feeding davica (fast
feed table Fig 12) can be provided.

The fast fead table, in line with the machina feed,
receives limber from a tilt hoist and cross chaing,
the driven rollers in the fast feed table and an
overhead hydraulically driven nip roll ensure "butt
up' before entry into the machine feedworks, a
slipping arrangement prevents averiding.

.4
N
Outfeed Equipment $

Generally used on highfeed speed machines, this
equipment can ba provided at the outfeed end of
"‘Wadkin' moulders to transfer to ancther process,
ie: stack, bundle, wrap, count, etc. Outfeed
equipment can be provided and programmed to
print on each component some identifying
information. eg. Job No. Date, etc. Combinations
of these facilities enable the finished components
to be pressented in a varety of ways at the
outfeed end of the machine.

Extra Head Positiona

Typically a planing and moulding machine has
four heads to machine all four faces, these can be
augmented with the addition of other heads. The
most common is a second bottom head to ansure
clean up on the underside. Where the amount of
timber to be removed is great, or where the mould

detail is complex it may be necessary lo provide
an extra bottom head, available as an option.

Splitting (Fig 13)

Splitting is a common operation, usually done o
the |last bottom head, and often requinng very
large horsa powers. Such a head Is available and
may be fitted with anti kick-back fingars to prevent
ajeciton towards the operator. Only one saw can
be fitted on the smaller machines, ie. GC.

niversal head, either three or four position
Iways last head on the machine) can be
provided to order, or the machine prepared to fit
the head at a later date. The three position head
may be used as a top head, bottom head or near
side head and at any angular position in between.
The four position head has the added capability of
use as a fenca side head.

The universal head gives greater flexibility for
splitting and moulding on a conventional machine,
and special pressures, chipbreakers, etc can be
provided to ensure perfect control of the
workpieca.

Dial-a-Size Positioning (Fig 14)

On machines which are used for a large variety of
small quantity batches of square dressed
material, the set up tme can be reduced by
fitting Dial-a-Size positioning.

J

N i —

FIG 14

1-4

www.DaltonsWadkin.com



www.DaltonsWadkin.com

QPERATING PRACTICE

SECTION 1

The near side head horzontal adjustment is
motorised and fitted with an ecoder, the
motorsed vertical movement of the top head
and feed is aiso fitted with an encoder.

A programmable memory stores the widths and
thicknesses of the workpieces to be produced,
and on command the two heads are repositioned
to the preset dimensions. In a similar manner,
where components of random width are machined
{eg. Table tops, see Fig 15)

Tha machine can be arranged to sense the width
of the incoming pieces and automatically move
the outside head to the required position.

Whilst being a slow operation, (butt feeding is not
possible and the feed speed is slow), the facility
does have great advantage to some users.

FIG 15

Fead Enhancament

NN

The "Wadkin' push feed and throu ystems
are the result of years of experien e planing
and moulding industry, and fog _the.great majority

Jéver, the great
and the different

of work are exemplary.
variety of timbers avall
conditions in which presented to the
machine is acknowi in the various options
available to enhance feeding and minimise bed
wear,

Bed lubrication

A |ubricant is introduced to the surface of the
machine bed, from a manual or auto pump; this
reduces friction, improves feeding capability and
reduces bed wear.

An alternative; of introducing air between the
timber and the bed of the machine, can be
provided for thosa machines that do not have a
second bottom head to machine off the small
amount of oil introduced to the underside of the
timber, or whera the material baing machined
must not in any circumstances be contaminated
with oil.

Feed rolls

The top driven feed rolls of a through feed
moulder are normally spring loaded down onto
the workpiece. Tha required amount of load can
vary with the nature of the work being run,
although as a general rule it must be as light as
practicable, and variation in rough timber
thicknesa will of course increase the load as the
feed rolls yield more, Adjustment of the loading is
dane at each Individual rall.

Pneumatic loading can be provided; this has a
number of advantages. Theloading does not vary
with any variation in lift, a@ amount of lcading
can be changed m sily, using an air
regulator valve. 0

One ragulatqr
tha tup
rolis aft

the other regulator controls the
head.

Nl 'O'
S

laning and moulding machines,by virtue of the
number of cutter heads and the speed of the
heads, produce high noise levals, typically
betwean 95dB and 115dB when cutting.

The woodworking machine regulations require
that an operator is not to be subjected to noise
levels above S90dBA for 8 hours, some
precautions are therefore requried and a safety/
acoustic cover can be supplied for this purpose.

it should be noted however, that even with a
sound enclosure, under some circumstances,
because of 'break out' (at say the infzed end),
the noise leval at the operating positions will be
above 90 dBA,

For personal safety reasons the operator should
wear ear defenders.

WARNING Befors operating the machine read the
Preface and Notice to Operators in section 3,
Operating Instructions.

rels the loading to rolls before

www.DaltonsWadkin.com

1-5



SECTION |

www.DaltonsWadkin.com

ING PRACTICE

1-6

www.DaltonsWadkin.com




www.DaltonsWadkin.com

OPERATING PRACTICE SECTION 1

COMMON OPERATING PROBLEMS

When resolving problems, always work in a systematic logical sequence. Work from the infeed end of
the machine through to the cutfeed end, checking for faults in a progressive manner.

In this way faults will not be overlooked and remedial action can be taken where needed.

Set (spring loaded) top/side pad pressure with minimum amount of lift. Set side guides (not spring
loaded) just up to timber; i.e. not clear, not trapping. When feeding wide pieces, on a through feed
machine it is normally better to space feed rollers than have a solid bank, (see Setting up the Machine).

FAULT Timber stops in machine O®

Check Setting of cutterblocks 1o table and fences. 9
Amount of pressure applied to feedrolls (preumatic Gng).
Shampness of cutters. ¢ w
Yield of chipbreakers and pad pressures. @
Tightness of side guides onto timber. 6
Qil leval of bed lubrication pump (if fitted).
Position of feedrolls on workpieca. @

FAULT Ripples appear on surface of
Check Setting of cutterblocks to mu&ma.
Prassure is applied to I neumatic or spring).
Sharpness of cutters.
Chipbreakers ara s and have sufficlent pressure to control timber.
All locks are appll

All pressure padsa 8 contact with timbar.
Spindle sp speed spindle fitted).
Tooling is sui for work.

FAULT sump@mum or outfeed end of workpieces

Check Setting of cutterblocks to table and fances.
Sharpness of cutters.
Chipbreakers are set cormectly and have sufficient pressure to contrel timber,
All locks are applied.
All pressure pads are in contact with timber.
Position of side and top pressure rollers.
Bed and fances for build up of resin or chips.

FAULT Machine will not straighten timber

Chack Setting of cutterblocks to table and fences (accurate setting of knife edge to table/fenca is

critical to obtain perfect straightaning).

Sharpness of cutters.
Feed rollers and top/side pressure should not be used before the first bottom head.

s the amount of cut set at the infeed fence and table adequate for the amount of bow in the
timber?

Is the timber to be straightened a stable section?

Is the workpiece within the length of the straightening table and fence?

www.DaltonsWadkin.com

1-7



SECTION 1 OPERATING PRACTICE

www.DaltonsWadkin.com

FAULT Timber runs away from fenca

Check Position of side pressure roiler bafore first bottom head (if fitted, and section being worked
does not require straightaning).
MNear side head chipbreaker is in contact with imber.
Top idle roller pressures at side head are parallel to fencs.
Side guides after fence side head are adjusted correctly.
Mating faces of feed rolls and spacers are clean. O

Tooling C)

*
When practicable and heads are available, rough cut on one he '@ finish on another, or take part of
a mould out on one head and part on another, \L

cbtain best performance. The cutterblocks supplie @ machine are fitted with high speed steel
cutter knives, unless otherwise specified. The cu dles should not be run al speeds above that

&
&
Q’b
&
&

Sharp tools produce quality work, therafore change a d sharpen knives at regular intarvals to

indicated.

1-8

www.DaltonsWadkin.com



www.DaltonsWadkin.com

OPERATING PRACTICE

SECTION 1

LEADING PARTICULARS

Principal Dimensions and Capacities
Maodel

fMaximum size of timber admitted
Maximum size of finished work

Feed speed infinitely variable

Pressure adjustment of feed rolls

{limit switches for maximum adjustments
on rise and fall beam}

Diameter of through feed rolls

Width of feed rolls

Diameter of cutterblock spindles

Speed of cutterblock spindles

Diameter of cutling circles

Maximum diameter of cutting circles \
(all spindles have vertical and hurizn%

adjustment)

Y

a’head

Maximum cut on First Bottom
Maximum cut on First Fen

Output of motors $
Feed motor
Rise and fall motor for beam

Spindle head motors

A\

9
o)

First bottom, Fence Side, Near side and Second

bottorn heads

Top heads

Gs220

230mm x 130mm

220mm x 120mm thick
(with 125mm cutterblocks)

6 - 36 metres per min

S
*x m + 1 x 10mm wide and
% Omm + 1 x 40mm steel spacers

6 bar

Nome

6000 mpm

100mm min all heads
125mm max

180mm First Bottom
195mm Side, Top and Second Bottom
heads

10mm
10mm

5.50 kW (7.5hp)
0.37 kW (0.5hp)

7.5 kW (10hp)
(optional)

5.5 kW (7.5hp)
(standard)

11kW (15hp)
{optional}

7.5 kW (10hp)
(standard)

Star delta starting available as on option on all 7.5 kW motors

www.DaltonsWadkin.com

1-9



www.DaltonsWadkin.com

i!ihin
SECTION 1 OPERATING PRACTICE '
90
&
o
S
)
Q(g

1-10 www.DaltonsWadkin.com



www.DaltonsWadkin.com

SECTION 2 INSTALLATION

LIFTING AND TRANSPORTATION

Unloading (Fig 1)

Verify the weight of the machine (see Installation
Data). Ensure that all lifting equipment used is
capable of lifting this weight as a minimum.

To lift the machine, place two 45mm diameter
steel rods 1.2 metres long in the holes provided in
the machine bedy (see Fig 1).

Carefully place two short siings of suitable
capacity on the crane hook. Keep these as wide
apart as possible by inserting wooden chocks
between the machine body and the siings to avoid
damage. Locats the slings securaly on the steel
rods.

Mﬂ"l’lnﬂ Q
In the process of moving, avoid jolting or wi

the machine. If the ground is flat the can
be positioned on wooden plinth % by

8
rollers instead of lifting. 0

fhachine has a
tha electric

IMPORTANT: When lifting
tendency to tilt ba
meteors and the mo
Allowanca should be

Unpacking

Undo the packing and make sure that damage
has not occurred during transit; undo the case of
accessories and asceriain that the machine Is
complete with all fittings.

&

FIG1 LIFTING THE MACHINE

Claaning

Before levelling the machine, carefully remove the
anti-rust matarial particularly from the bright pars.

Clean the machine with paraffin or diesel and a
soft rag. Do not use a substitute - it may
precipitate an explosion.

www.DaltonsWadkin.com



www.DaltonsWadkin.com

IELEION 2 INSTALLATION

INSTALLATION DATA

Major Dimensions and Waight

Langth 2500mm
Width 1500mm
Height 1550mm
Weight 2000Kg

Location and Foundations

To obtain the best results from the 'Wadkin'
woodwarking machine it is important that the
floar an which the machine is to stand has bean
prepared and is dry. Level the machine from the
middle of the bed between the adjustable screw
supparts by the use of a spint level. Place the
steel plates supplied with the machine under the
adjustable levelling scraws.

Suggested Lavelling aids: 6
Straightedge 2 metres long O
Feelers (thickness gauges), 0.50, 0. 5 and
0.2mm

Engineer's spirit level Q
Levelling longitudinally $ ¢

Flaca the spirit lavel ble and maving the
level lengthwise any variation. Adjust
machine level by us@®of the adjustment screws
in the feet of the machine. Deviation should not
be mora than 0.2mm.

Lavelling transversaly

Place the spirt level acruss the table at right
angles to the fence and repeat this action at
intervals of 800mm. Total varnation at each
position should not exceed 0.1mm.

The foundations

The size of the foundations depends upon the
spaecific machine model, format of the heads and
disposition of the exhaust outlets and will be
provided for individual machines.

If the floor consists of 100mm - 150mm (4 to &
Inches) solid concrate, no special foundation is
necassary. M12 'HILTI' type holding down boits
{not supplied with the machine) can be used to
secure the machine to the ficor.

NOTE: THE MACHINE MUST BE BOLTED
DOWN BEFORE USE.

See Foundation P details of floor area

required. 0

@utumar is responsible for and adequate
cal supply. Details of power requirements
provided with the machine.

The machine is deliverad with its complete
electrical equipment ready for connection.

The elecirical connection and schematic diagram
are found in the electrical control cubicle of the
machine. All that is required is o connect the
power supply to the disconnect (isolator) switch at
the electrical control cubicle or panal.

POINTS TO NOTE WHEN CONNECTING THE
POWER SUPPLY

Check the voltage, phase and frequecny
comespond with those on the machine nameplate
details.

Check the main fuses are of the comect capacty
in accordanca with the machine nameplate

details.

Connect the incoming supply leads 1o the
appropriate terminals.

Check all connections are sound and that
aquipment is earthed.

2-2

www.DaltonsWadkin.com



www.DaltonsWadkin.com

INSTALLATION

SECTION 2

Check the spindle rotation is cormect. When
locking froam the front of the machine the feed rolls
should rotate in a dockwise direction. To raverse
the rotation on any drive, reverse any two of the
line lead connections at the incoming supply.

IMPORTANT: ANY ELECTRICAL
MODIFICATIONS SHOULD BE CARRIED OUT
BY A COMPETANT ELECTRICIAN

Prneumatic pressure equipment (whera fittad).

Wheare the machine is equipped with pneumnatic
pressure operated feedrolls, the number of
connections are shown on the pneumatic circuit
diagram and foundation plan. To make the
system operative connect up the air pipes and
fittings to a suitable air supply.

The part of the air extraction pipe fitted to tha
exhaust hood should be flexible and detachable.
The langth of the flexible part is dependant on tha
way the pipe is used and the adjustment required
an the work spindle. As a guide use a flexible pipa
one metre long for the lower and fence sida
spindles and two matres for the top and near side
spindles.

Tha flow of air o the exhaust hoods should be
approximataly 25 to 3 s per sacond.
Volume of Air Re

For Huﬁmﬂ@ﬁdlea

For %pi ndles

| volume of air required’ for the Dust

23.5 cu.metres/min
(830 cu.feet/min}
14.4 cu.metras/min
(510 cu.feat/min)

Tha size of the air inlet connaction is 1/4in. BS &
female. ction is directly related to the total number of

The size of the pipe is 8mm O.D. x S5mm LD?

Pressure required is 6 bar (approx 9
Operating Inatructlons for feed :it

The air consumption Is approxim 235 cu.dm/
hr (8.3 cu.feed/hr). ¢
Exhaust (Dust Extra nnections

The size of the ons are given on the
Foundation and Dust Extraction Plan.

p:nd!es and will be confrmed on supply of
equipment.

Schematlc Diagram for Electrical Serives

The electrical wiring and schematic diagram will
ba in the electrical control cubicle of the machine

WWW. Dattons WaakiTcornT



SECTION 2

www.DaltonsWadkin.com

INSTALLATION

www.DaltonsWadkin.com



www.DaltonsWadkin.com

Wadkin
' QPERATING (INSTRUCTIONS SECTION
SECTION 3 OPERATING INSTRUCTIONS
GENERAL INFORMATION
Safety Universal head), should be fitted with a locking

The safe operation of woodworking machinery
requires constant altertness and close attention to
the work in hand.

Read this Instruction manual, the Preface, and
the Safety Notes carefully before oparating the
machina,

Blunt cutters often contribute to accidents. An
efficient machinist knows when sharpening is
necessary, but if there is reluctance to spend
time on grinding and resetting, the cutters may run
beyond their efficient limits and instead of cutting
efficiently and smoothly they will tend to chop and
snatch at the workpiece. This not only increases
the risk of accidents but also lowers the guality of
work,

han
a for

tensioned by means of a torque span
choosing cutterblocks ensure they

the maximum cutting speed of ne.
It is recommended that pe involved with
the machine are a ted with the

Woodworking Machine ulations 1974 and
also Booklet No. fety in the use of
woodworking machies', issued by the
Department of Employment and available from
Her Majesty's Stationery Office. Also BSI Code of
Practice 'Safeguarding Woodworking Machines'

Fart 1 BS 6854.
Safety Devices

The safety covers and dust hoods must be closed
during the time the machine is running. Cover the
non-used part of the cutterblocks with the guards

provided.

Only remove the feed roller guard when changing
rollers and with spindles switched off at the control
panel.

Spindles which are run in two directions (ie:

callar to prevent unforeseen unlocking on moda
changeaver.

Do not work spindles if the spindle nuts or
intarmediate collars are not securely tightened.

Only remove the cover o drive belt housing
when changing or retensighing beits. The drive
spindle must be sta before making any
adjustments,

.
WARNINGS
O

Notica arators

nd follow the guidelines given in

a
%ulrdlng Machines and Safety Notes
6 ch are repeated on the front of the machine.

Customers are strongly advised at all times t
high tensile cutterblock bolts which

Before operating the machine

Ensure that all guards and fences are securaly
fitted and comrectly adjusted. Guards and cther
safety devices are NOT to be removed while the
machine ia in operation. They are there for YOUR
SAFETY.

Ensura cutters/blades are the comect type and
rotate in comect direction of cut, are sharp and

securely fastened.

Correct spindle speed and feed Is selected for the
cutter aquipment,

Remove or fasten loose clothing, confine long hair
and remove jewallery, etc.

Ensure suitable jigs and push sticks are available
as appropriate.

Ensure sufficient working space is provided and
that lighting is adequate.

Switch on all dust extraction equipment, ensure it
Is working correctly.

www.DaltonsWadkin.com

3-1



3-2

www.DaltonsWadkin.com

SECTION 3

Wadkin

QPERATING INSTRUCTIONS

During machining

Wear suitable protactive equipment, e.g. goggles,
ear defenders, dust mask.

Stop the machine before making adjustments or
cleaning woodchips from the work area.

Keep the floor area around the machine clean and
free from wood refuse.

Do not allow the floor to bacoma slippery with oil
or grease.

Report any machine malfunction or operator
hazard to a person in authorty immediately. Do
not attempt to repair the machine unless qualified
to do so.

Ensura all power sources are isclated before
commencing any maintenace work.

Comply with the Woodworking Machines
regulations. Failure 1o do so could result in legal

Q"o

Before starting the machine, ope uld

Machina Controls (Fig 1, Fig 2}

familarise themselves with the v controls
and their usage. 9

Check direction of spindle , ensuring that
the spindles rotate fre eck each spinde

motor separately.

Check the infeed raise and Iuwer‘cparaﬁun.
The machine has continuocus feedworks. When
started, imber stock will be fed to the cutter heads
until the pass |s completed or the machine is
stopped. The feed speed Is variable and can be
adjusted by a handwheel at the drive gearbox to
give throughout speeds within the machine range.
Only adjust the variable speed drive while In
motion.

Adjust the variable speed drive unit through the
full range once a week to avoid the feed drive

mechanism jamming.

The feed rolls have serrated teeth up to the top
cutter head after which they are rubber covered.
The semrated rolls need to be adjusted to 3mm
lower than the thinnest workplece; tha rubber

covered rolls should be adjusted to 1mm lower
han the warkpieca.

The height of the feed roll adjustment is indicated
by the graduated scale on the vertical pillar
adjacent to the feed table. Adjustment of the
feed rolls is made by pressing the pushbuttons
markad:

- raise feed rolls
- lower feed rolls

The pushbuttons are positioned on the Electrical
Control Panel located at the infeed end of the
machine and also at trol station located at
the cutfeed end of chine,

The adjuatmanqy the height of the rubber
covered {pl in} rells may be made independantly
to suit th ed workpieca.

mounted control station at the infeed
the machine containg the following

Tha

TART-STOP Pushbuttons;

with indicator light, for each spindle.
START-STOP Feed Pushbutton;

with Indicator light.
FORWARD-REVERSE

(inch) Feed Pushbuttons.
RAISE-LOWER Pushbuttons;

for beam adjustment.
MASTER STOP (Emergency) button.
REVERSING switch;

for universal head cperation.

Machine snclosure

The machine can be fitted with a close fitting GRP
enclosure. When saiting up the machine, ba
aware of any interocks fitted. Do not retum
machine to service until all safety fittings are
cperational.

STOP [ START

AU INDICATOR
LIGHT

[ BUTTONS MASTER S5TOP
F%ARD,IREME RSE BUTTOM

FIG 1 CONTROL PANEL

www.DaltonsWadkin.com



i“‘”‘i“ SECTION 3

www.DaltonsWadkin.com

PRESSURE REGULATC
TOP ROLL

SIDE PRESSURE AFTER F|RSTFE INFEED FENCE
TOP HEAD CHIPBREAKER AD

NEAR SIDE HEAD CHIPBREAKER ADJI

PRESSURE ADJUSTMENT SCREWS FOR~
OUTFEED DRIVE ROLLS

TOP HEAD PAD PRESSURE ADJUSTMENT ~
OUTFEED DRIVE ROLLS(JABLE FEED SFE®DNTHOL

FENCE SIDE HEAD Q
VERTICAL AQJUSTMENT-N CONTROL SIATION
*

OUTFEED SIDE GUIDE-=gp F, QﬂDJUSTMENT
NEAR SIDE HEAD LATERAL ADJUSTMENT -

NEAR SIDE HEAD VERTICAL ADJUSTMENT =

LOCKING HANDLE SECOND BOTTO -
HEAD VERTICAL ADJUSTM G HANDLE FOR INFEED HEIGHT ADJUSTMENT

OUTFEED CONTROL STARSN -EED TABLE HEIGHT SCALE

iE?SgT%EIEQQrTTOM HEAD{Q Ak JEED TABLE HEIGHT ADJUSTMENT
RTICAL

SECOND BOTTOM H 5
ADJUSTMENT .

TOP HEAD VERT ADJUSTMENT”
TOP CLUTCH LEVER~”

PRESSURE

‘KING_HANDLE FOR FIRST BOTTOM
\D VERTICAL ADJUSTMENT

ST BOTTOM HEAD VERTICAL ADJUSTMENT

www.DaltonsWadkin.com




www.DaltonsWadkin.com

www.DaltonsWadkin.com



www.DaltonsWadkin.com

IS

OPERATING INSTRUCTIONS

MOUNTING THE CUTTERBLOCKS

General

The GS machine can be fitted with plain bore or
hydrogrip (hydraulic pressure) cutterblocks.
Hydregrip cutterblocks are used to provide an
improved surface finish and allow higher feed
speeds to be used. The method of fitting the two
types diffars.

Whan changing cutterblocks, be aware that the
spindles for plain bore blocks have right or laft
hand threads, dependent cn spindla location, and
tighten accordingly.

The spindlas are threaded as follows:

Bottom Horizontal spindle - left hand thread
Near Side Vertical spindle - left hand thread

Top Herizontal spindles - right hand thread
Fenca Side Vertical spindle - right hand thread

The Hydrogrip blocks are not screw fitling
require to be pressurised in position o
spindle. To protect the Hydrogrip c
and the machine spindle in the avent o
failure, it is necessary for safety d
used.

ullg
to be

the safety drive
ock selzing on the
nt or either; the

The consequence of not u
collars will result in the
machine spindle in
operator neglectin urise the cutterblock
and then running spindle, or the Hydrogrip
cutterblock sleeve losing pressure.

If a seizure occurs, the spindle and cutterblock
must be retumed to Wadkin for repair. An
appropriate charge will be made for this service.

Two types of safaty collar are used. These are
threaded safety collar; for use when fuil length
tooling is in use on the machine spindle. A plain
safety collar; for use when short length tooling s
used on the machine spindle.

To change cutterblocks
The method of changing cutterblocks depends on

the type fitted and it will be first necessary to
remove any guards, dust extraction, locking collar,

2

spindle nut, and spacers fitted, as applicable.
Isolate machine from power source.

Plain bore type cutterblocks
To remove cutterblocks:
(1)  Unscrew the cutterblock nut from the

spindle with the spanner/s provided. Can be
right or left hand thread. (see general)

a. Place the spanna@mn hexagon of the
spindle and o flat faces of the
cutterblock | , on

b.  Hold thd spahner (top) securing the spindle
fir position and unscrew the
C&Edﬁ locknut from the spindle with

tiom spanner.

: DO NOT use any form of p'-armssian toal
damage to spindle bearings can result. DO
NOT use a box or extension spanner.

Hydrogrip cutterblocks (Fig 3)
To remove cutterblocks:
(1)

Release locking screw on safety collar (Fig
4) and remove from spindle.

(2) Depressurise the Hydrogrip cutlerblock by
turning the pressure release screw (2},
located In a recess on the bamel of the
cutterblock one quarter tum to release,

using @ 3mm A/F hexagon key.

FIG 3 HYDROGRIPCUTTERBLOCK

www.DaltonsWadkin.com

E



www.DaltonsWadkin.com

SECTION 3

(3) Slide the cutterblock from the spindle.
Always leave the pressure release screw (2)
undona when the cutterblock is not in use to
avoid distortion to the cutterblock due to the
varation in room temperaturas.

(4)

To replace both types of cutterblock.

Carefully clean spindles, cutterblocks,
spacers and collars before fitting new
cutterblocks,

(1

Carefully place the cutterblock on the
spindle. On the Hydrogrip blocks tighten
pressure releasa screw (2), and pressurise
the cutterblock by applying hydraulic
pressure lo the pressure nipple (1) located
in a recess located on the barrel of the block
(sea Fig 3).

(2)

Fit safety collar (sea Fig 4) and tighten
sacuring screw.

(3)

On plain bore cutterblocks. Tighten the
block to the spindle with the spanner
provided,

Tumn the spindle slowly to ensure O
cutlerblock is free and replace )
Operate the spindle for a to
ensura (t rotates fe +and without

vibration. $

Take care not to allow the cutterblock fo fall onto
the spindle shoulder while fittirg. This can cause
damage to spindle bearings and subsequent
vibration and Is especially applicable lo vertical
spindles.

(4)

(6)

CAUTION

Once the new cutterblock has been mounted it
may be necessary to reset the digital readout,
chipbreaker and pressures. Refer to section
'Setting up the Machine' for :rese details.

Safety Collars (Fig 4)

Fitting procedure:;
A. Threaded Collar
(1) Mount the cutterblock onto the machine
spindle. Make sure the cutterblock fits up to

the shoulder on the spindle.

(2) Pressurise cutterblock to the correct
warking pressura,

(3)  Unscrew the pins in the threaded safety
collar to the fullest extent, using the knured
heads.

(4) Screw the collar onto the spindle, finger

tight, against the and face of the cutterblock

Reverse the collar on the threads, sufficient
to allow the pins to ba brought into line with
corresponding ho e end face of the

®)

()

cutterblock.

FIG 4 SAFETY COLLARS

(6) When in line, screw the pins into position,
locating into the holes of the cutterblock.

() Tighten the cap screw in the collar using an
Allen key. This causea the collar to grip the
threads on the spindle.

(8) The collar will now maintain the crive to the

cutterblock in the event of depressurisation.
To releass; reverse the procadure
B. Plain collar

(1) Mount the cutterblock onto the machine
spindie, making sure it fits up to the spindle
shoulder. Pressurise cutterblock to the

commect working pressure.

Slide the collar with its pins facing the
cutterblock along the machine spindle up to
the cutterblock. Locate the pins into the
corresponding holes in the block.

(2)

www.DaltonsWadkin.com



www.DaltonsWadkin.com

Wadki
OPERATING INSTRUCTIONS
LilONS SECTION 3

(3) Tighten up the cap screw in the collar, using
an Allen kay. This causes the collar to grip
the spindla.

(4)  The callar will now maintain the drive to the
cutterblock in the event of depressurisatian,

To release; reverse the procedure.

www.DaltonsWadkin.com

37



SECTION 1




www.DaltonsWadkin.com

=
&
-
3

OPERATING INSTRUCTIONS

2ECTION 3

SETTING UP THE MACHINE

Set Infead Table and Fanca (Fig 5)

(1) To set the height of the infeed table (1)
slacken off the locking handle (11) and tum
the handscrew (2) with the ratchet handia
provided. Set the height requrded from
direct reading on the graduated scale (3)
by moving handile to rght or left as required.
The maximum adjustment available is
10mm.

(2) Set the fenca (4) with handle (5) after first
releasing clamp (6). Set the amount of
fance side cut required by direct reading on
the scala (7). Refasten clamp () after
adjustment.

FIGS5 INFEED TABLE SETTING

(3) The adjustable guard (8) must ba sst to
within Smm of the maximum timber size.
Slacken starwheel (9), set guard (8) and
retighten starwheel.

(4) Set side roller (10) by loosaning the two
screws (12) and positioning to suit the
minimum width of timber. Then tighten
nuts (12).

Set feed rolls (Fig 6, Fig 7)
First Bottom Head describad; others are similar
(1) Set the feed rolis (1) to suit width and

thickness of timbar; ia: width of rolls to be as
width of imbar.

NOTE: To achieve maximum traction on wide
timber, it may be advi o space rolls apart
{Fllu 7), rather than g a solid bank of faed
rolls.

: ®
A\

FIG6 FEED ROLLS — SETTING

Use the Control station pushbuttons (Fig 1
Machine Controls) to set the thickness.
If necassary, change the rolls as follows:

a. Slacken centre screw (2), using a 19mm
hexagon spanner.

b. Remove 'C’' wahser (3), add or remove rolls,
or spacers (4), to suit width of stock. (Fig 7).
Ensure that each roll drive engages with its

mating part.

c. Refit 'C' wahser (3) and retightan cantra
screw (2).

(2) Set feed roll height 3mm lower than thinnest
workplece. Set outfeed rolls 1mm lower.

www.DaltonsWadkin.com



www.DaltonsWadkin.com

Wadkin
SECTION 3 CPERATING INSTRLUCTIONS

(2) The limit screws (3) are factory set to allow
the table roller o raise a maximum of Bmm
above the table in cperation and rest at
approx 1mm below bed lavel,

(3) The air cyfinder (4) is not connected to the
pneumatics and acts only as a link/stop.
When setting the top through feed roilers
this will position the top nip infeed roller (5)
in line with tha other fead rollars through the

machine.

(4) The optimum working pressura is that which
just iifts the bo roller (1) of its battem
limit stop. ure is regulated at its
respective . For difficult imber whare
extra grip be required the pressure

4 sl'nyl@nmaud.
N\

FIG? FEED ROLLS — SPACER DETAIL First Head (Fig 9, Fig 10)

ndle can be adjusted vertically from the

Set linked top roller and drivan table roller (Fig of the machine whilst lateral adjustment is

8) m the rear.
(1) The driven table roller (1) and the F"b& (1) Ensure the outfeed table (1) s clean.
table (2) move in unison, thus
driven table roller |s set there @l N0 (2) Place a straightedge (2) on the outfeed table
need for adjustment. % projecting over the bottom horizontal
O — cutterblock (3). The cutter blades should

Just touch the under side of the

FIG 8 LINKED TOP ROLLER AND
DRIVEN TABLE ROLLER

FIG 9 FIRST BOTTOM HEAD

www.DaltonsWadkin.com

3-10



www.DaltonsWadkin.com

Wadkin
' OPERATING INSTRUCTIONS
SECTION 3
{(3)  If necessary reset the cutter height as Fence Side Head (Fig 11, Fig 12)
follows:-

The spindle can be adjusted vertically and
a. Release locking handle (5) and adjust by honzontally,
rotating the handscrew (8) clockwise tfo
raise the spindle or anticlockwisa to lower. {1)  Ensure that the machine bed is clean,

(4) Refasten handie (5). (2) Place a straightedge (2) against the gutfeed
fence (1) and cutterblock (3). Set the

NOTE: All handscrews are fitted with a square spindle so that when rotated the knives

shaft extension, A winding handle is supplied to fit lightly touch the straightedga (2).

this.

(5) If necessary adjust the cutterblock laterally
as follows:

a. Release the hexagon nut (7) on the bottom
head vertical slide casting at the rear of the
machine and rotate the spindie adjuster (4)
as required.

b. Retighten the hexagaon nut (7).

=a AN /
%@11 FENCE SIDE HEAD |

L~ (3) To adjust the spindle laterally, proceed as
follows:

a. Release the locking handle (4).

b. Rotate the adjusting screw (5) clockwise to
advance the spindle or anticlockwise to
retract the spindle.

NOTE: Maximum lateral movement is 85mm

(4) Set the axial position (height) of the
cutterblock (3) as follows:-

a. Release locking handle (4).

b. Releasa the spindle clamp (7) and adjust by
rotating the handscrew (8) anticlockwise to
lower tha spindle or clockwise to raise the

spindle,
¢.  Refasten handles (4) and (7).

FIG10 HAND CONTROLS —
FIRST BOTTOM HEAD

www.DaltonsWadkin.com

11



3-12

www.DaltonsWadkin.com

SECTION 3

Wadkin

QPERATING [NSTRUCTIONS

FIG 12 HAND CONTROLS —
FENCE SIDE HEAD

Near Side Head (Fig 13, Fig 14}

The spindle can be adjusted vertically and
horizontally,

(1)  Ensure that the machine bed is clean.

{2) Check the digital readout, using a datu
block (1) of known width inserted be
the outfeed fence guide (2} 6 a

$®

cutterblock (3).
| §

MINDMLM
CUTTING
CIRCLE

&

MOULDING

FIG13 NEAR SIDE HEAD

The cuttarblades should just touch the nearsida of
the block :

{3) If necessary adjust the spindle laterally as
follows: -

a. FRelease the locking handle (4)

b.  Rotate adjusting screw (5) clockwise to
advance the spindle, anticlockwise to retract
the spindle.

c.  Refasten locking handle (4}

(4) Resetthe di fi
loosening t bscraw in the knured
collar an ating this collar untill the

mdiches the width of the datum

fasten grubscrew.

ut if required by

rea
bidaK:

HAND CONTROLS —
NEAR SIDE HEAD

FIG 14

(5) Set the axial position (height) of the
cutterblock (3) as follows:-

a. Releasa the locking handle (4) and the

spindle clamp (€).

b. Rotate the handscrew (10) clockwise to
raise or anitclockwise to lower the
cuttarblock.

c. Refasten handle (4) and clamp (6)

() The chipbreaker adjustment is as follows:-

a. Remove the cover of the dust hood.

b. Releass locking handle (8).

www.DaltonsWadkin.com



www.DaltonsWadkin.com

Wadki

QPERATING [NSTRUCTIONS

SECTION ;

¢.  Adjust the chipbreaker (7) so that it clears
the smallest cutting circle by approximately
2mm (Fig 13).

d.  Refasten locking handle (8)
e, Loosen bolts (9) and adjust the chipbreaker

{7} to suit the cutterblock diameter so that it
clears the cutterblock by 20mm (Fig 13).

f. Retighten balts (3)

Set the outfeed adjustable guard cn the dust
hood to suit the cutterblock i.e. approx Smm
less than minimum cutting circle,

(7)

Top Head (Fig 15, Fig 16)
The spindle can be adjusted vertically and
horizontally. The wvertical adjustment can be

either manual or powered with the beam rise
and fall.

(1)
(2)

Ensure that the machine bed is clean.

Using the same datum block (1) as at the
near side head set the cutter verical
adjustment as follows:-

a. Release locking handle (2).

b.  Rotate handscrew (3} clockwise
the spindle or anticlockwise t
spindle untill knives just i
datum block (1).

the
ch the

c.  Refasten locking han

d.  Reset digital rea necessary by
loosening iha@ screw In the knuried
readout collar. Hotate this collar until the

known block width is indicated. Retighten

grubscrew.

FIG 15 HAND CONTROLS — TOP HEAD

&@autumaﬁc&lly move anly the beam
Q‘c
oo

Use the automatic vertical adjustment to
mave the beam and top head as follows:-

(3)

a. Release locking handle (2),

b.  Engage lever (5) and hold untill clutch is
engaged.

NOTE. |If the clutch does not readily engage,
operate the handscrew (3) by tuming slightly (to
rght or left) until engagement is made.

c. To raise or lower spindle press the
appropriate button at the control station.

The automatic vertical adjustment only works in
conjunction with the powered height adjustment to
the feedrolls.

d.  After positioni spindie, lift the hand
lever (5) to di
adjust{ne -

e If ry make any fine adjustments

y using handscrew (3).

vartically, press the relevant raise or lower
button on the control station. Check lever

(5) is disengaged.

Lateral adjustment is made by first releasing
spindle barrel lock (B) and then adjust using
handscraw (4). When set refasten barrel
lock (8).

(5)

age the automatic vertical

www.DaltonsWadkin.com

313



www.DaltonsWadkin.com

Wadkin
SECTION 3 OPERATING INSTRUCTIONS ..

() The chipbreaker should be set so that the c. Refasten iocking handle (1).
nosa of the shoe (6) is just touching the
datum block at the same lme as the (2) Adjust the spindle laterally if required by:
cutterblock knives. The chipbreaker shoae
should be a minimum of 20mm from the a. Releasing spindle barrel lock (3).
largest cutting circle. Set the chipbreaker as
follows:- b.  Adjust using handscrew (5).

a.  Slacken off the two locknuts (7) and adjust ¢.  Tighten spindle barrel lock (3).
to datum block. -,

b.  Refasten locknuts (7).

¢.  Adjust the spring pressure using tension
screw (9) to achieve the required down
force.

Second Bottom Head (Fig 17, Fig 18)

The spindle can be adjusted vertically and
horizontally. Ensure the outfeed table is clean.
Place a straightedge (4) on the outfeed lable
projecting over the second bottom head.

The cutterblock knives (6) should just touch the Final\AMjustments and Settings (Fig 19, Fig
straightedge.

(1)  If necessary reset as foliows:- 1) With machine switched off check setting of
6 infeed table and fence will give required

N

b.  Adjust cutterblock height by n (2) Place timber on infeed table and check/
hand screw (2) clockwi ise the adjust side roller pressure to suit.

a. Release locking handie (1).

(3) Check infeed rolis are 3mm lower than
timber thickness. Outfeed rolls should be
1mm lower than timber thickness after being
machined by top head.

Set air prassure on feed rolls using the air
supply regulators and assoclated guages.

NOTE: The first regulator and gauge is for the
pneumatically linked driven bed roll and top roll,
the second regulator and gauge for the feed rolis
up to the top head and the third gauge for the
remaining outfeed top rollers.

The following pressures are recommended:-
a. Steel rollers 3 bar (1 bar = 14.5 psi)

b. Plain (composition) covered rollers 4 bar

FIG 17 HAND CONTROLS —
SECOND BOTTOM HEAD

www.DaltonsWadkin.com

314



www.DaltonsWadkin.com

Wadkin

CPERATING INSTRUCTIONS

SECTION 3

Switch on and inch timber through machine
and stop prior to fence side head. Switch
off,

(4)

(3} Set required cut for fence side head.

(6) Adjust side roller pressure by unscrewing
the two nuts (2) and position the roller to suit
the maximum timber width. Tighten nuts

(2).

Check chipbreaker setting adjust if
necessary. Set adjustable plate on the
outfeed side of the near side head just clear
of the timber ie. approx 10mm
(9) Switch machine on, Inch timber through
machine and stop prior to second bottom
head. Switch off.

Set the pressure pad after the top head

FIG 19 FENCE SIDE HEAD s@c

using adjusting screw (8) so that a moderate
pressure is exerted on the wood. The
pressure pad is adjusted by loosening the
two nuts (7). Position the pad to suit the
timber width and also the cutterblock (the
pad nose shauld clea maximum cutting
circla by 10mm). R@n nuts (7). Check
and adjust if essary top head

chipbreaker. 0

O/,

FIG 20 TOP HEAD PAD PRESSURE

(T} Adjust the top roiler (3) gening scraws
(4) to give |ateral stment in two
directions. Height @mm ls achieved
by slackening s (5). When set to
timber thickness“retighten all screws. To
increase spring pressure tum the knurled
screw (6) on the top of the spring tensioner

in a clockwise direction. To decrease spring
pressure tum the screw anti clockwise,

NOTE: If the screw is turmed through a distance
of 5mm, pressure on the roller is approx 250N
(25KG). The maximum adjustment (16mm)
provides a prassure on the roller of approx 500N
(S0KG).

(8) Switch on, Inch timber through machine and
stop prior to top head. Switch off,

(10) Adjust outfeed side guides to suit machined
timber,

Shim bedplate after second bottomn head to
suit required cut.

(11)

Switch on and inch wood through. Set
machine feed speed by rotation of the hand
wheal on the speed indicator dial with the
machine running.

(12)

NOTE: DO NOT ADJUST SPEED WHEN
MACHINE IS STATIONARY.

(13) Pass a test piece through at run speed,
check dimensions and make further
adjustments if required as described
paviously,

www.DaltonsWadkin.com

3-15



www.DaltonsWadkin.com

SECTION 3 OPERATING INSTRUCTIONS

3-16 www.DaltonsWadkin.com



www.DaltonsWadkin.com

Wadkin
CPERATING INSTRUCTIONS
CTIONS SECTION 3
FAULTS IN THE WORKPIECES AND THEIR CAUSES
General
Remedy - Adjust, or sharpen the cutter
FAULT - Blips at the leading end of the carefuily
underside of the timber.
Cause - The cutterblock is too low in FAULT - Bum marks an the stock.
relation to the outfeed bedplate. Cause - Cutters are blunt and need
Remedy -  Adjust the cutterblock corractly. regrindi
Remedy - Regrin Brs.
FAULT - Scars on the trailing end of the
underside of the imber. Faults in Grind d Setting
Cause - The cutterblock is too high in o
relation to the outfeed bedpiate. FAULT -* Qlcka in the edges of the cutlars
Remedy -  Adjust the cutterblock correctly. \p aspecially carbide.
Cm-b Generally caused by removing too
FAULT - The trailing end of the top face of @ much metal when regrinding. This
the timber shows blips. results in undue strasses and
Cause - Pad and roller pressures are subsequent cracking and breaking
incorrectly adjusted. away of the cutting edge when
Remedy - Adjust the pad pressures mnv@ machining.
Remedy -  Taka greater care when regrinding
Faults Caused by Tools \'O cutters
FAULT - Vibrating heads
FAULT - Out of square s @*pianing. Cause - Cutterblocks have been sat up
Cause - The cutters au%mﬂel to incorrectly.
outfeed O are badly Remedy - Resel.

mm;"g

$ CLEANING THE MACHINE

Machines are designed to need a minimum of
maintenance. However, it s recommended that
the machine be cleaned thoroughly once a week.
This is essential when working on hard wood such
as Sipo (Utile) or similar.

If cleaning with compressed air, take care not to
direct the jet onto the spindle and moving shaft,
bearing housing ,etc. Clean the spindles and
remove all remains of resin and grease. Do the
same with the cutterblock collars and machine
tables (bedplates) and lightly lubricate.

Check that all machine parts siide easily at friction
points. Lubricate as indicated in the lubricating
instructions (see Maintenance).

Adjust the variable speed drive unit through the
full range once a week to avoid the feed drive

mechanism jamming.

www.DaltonsWadkin.com

17



www.DaltonsWadkin.com

SECTION 3 OPERATING INSTRUCTIONS

www.DaltonsWadkin.com

3~-18



www.DaltonsWadkin.com

SECTION 4 MAINTENANCE

SCHEDULED MAINTENANCE

Scheduled maintenance consists of regulary
maintaining the machine in a good operating
condition, capable of safely producing good
quality trouble free work, with the minimum of
downtime.

This includes tasks such as daily/weekly cleaning
and lubrication which can and should be
performed by the operator. Tasks carried out at
longer intervals will require more specialised
knowiedge and tocols to perform.

Lubrication

Much attention has been given to keeping
lubrication and maintenance to a minimum. In
consequence, "sealed for life’ bearings and 'Oilite’
bushes have been used. The cutterblock spindles
have been fitted with permanently lubricated
bearings; these should only require replacement

Maonthiy/3 Monthly

Grease machine drive spindles and drive motor
shafts, where fitted with grease nipples, using
Wadkin Grade L6 grease unless other wise
stated. Do not overfill bearing housings.

Generally, machine drive spindles will be
lubrcated monthly

Vee-Belt Drive Tens Fig 1)

Chack drive belts a ular intervals (as indicated
balow). If the d,arises retension. Insufficient
ing and premature belt wear.
n causes bearing wear. Tension
Checking/Adjustment.

the operation of the machine when first

\%\h servica. After approximately one hours
of lubricant if the spindle bearings are mplacad.al ve use, check and retension belts to take up

However, there are exceptions as follows:
Electric motors, where 'sealed for lifa’ @l
have not been fitted, are provided wi 258
nipples. These should be grea onthly
intervals with Wadkin L6 grease.

ic lubrication of
le speed unit.

Thera is no requirement for
the feed rolls motor drive

&

Grease the machine slideways and the various
traverse screws with Wakdin Grade L6 grease
(see Approved Lubricants)

Daily

A hand cperated lubrcating pump is fitted to
provide oil feed lubrication to the machine bed.
The hand lever should ba operated to deliver the
required amount of oil to the bed. A tap is fitted to
the pump to control the oil flow rate to a preset
amount.

The oil reservoir hoids 1 litre (1.76 pints) of oil.
Replenish with Wadkin Grade L4 oil (see
Approved Lubricants) as needed.

N

iial beit stretch.

in general, Vee-belts will require adjustment at
intervals to take up any slack due to use. Three-
monthly intervals are recommended as an initial
guide for the feedworks drive.

It s important o check the condition and tension
of the cutterspindle drive belts at more frequent
intervals, depending on conditions of use, if
problems relating to quality of finish are to be
avoided. Monthly intervals are recommended

initially.
Checking/Adjustment |s carried out as follows:
(1) Remove the drive cover,

(2) Check beit tension. The belt should be
capable of being depressed approximately
1.5 to 2 cm by application of average thumb
pressure (see Fig 1).

www.DaltonsWadkin.com



www.DaltonsWadkin.com

Wadkin

SECTION 4 MAINTENANCE

4-2

{3) To adjust: fit spanner (1) provided, to
adjusting screw (2), located at motor
support bracket and turn In an
anticlockwise direction to tension tha belt
drive (see Fig 1)

NOTE: Do not over tension belts,
(4) Refit drive cover

There may be occasions where the tensioning
arrangement does not follow that described.
However, all beit drive adjustment follows the
same general principle; this involves moving the
drive pullay centres or motor platform, thus taking
up any siack in the beit drive. The method used
will normally be self evident. Retighten any
securing features fitted.

If one or more of the vee-belits becomes faulty it
will be necessary to replace as a complate set.
(see Replacing Drive Belts). It Is impossible to
gbtain a comectly tensioned drive, with all belts
taking an equal share of the load, by mixing

and new, or different beits.

FIG 1 VEE-BELT DRIVE TENSIONING

Glﬂl;ilng

Woodworking machines are designed to need a
minimum of maintenance. However, a certain
lavel of maintenance, espedally cleaning and
lubrication, will pay dividends in quality of work.

It Is recommended that the machine be cleaned
thoroughly once a week, especially when working
on hardwood or highly resinous material, to
prevent choking of ventilator airways and build

up of deposits on working parts.

Clean all spindles regularly and remove all
remains of resin and grease. Do the same with
cutterblock collars and machine tables. Check
that all machine parts slide, or rotate fraaly.
Lightly lubricate as directed, do not overiubricate.

if deaning with compressed air, take care not to
direct the jet onto the spindle bearing housings,
moving shafts, efc. to avoid forcing dust and
debris into bearings and housings.

SPEED DRIVE UNIT
GE ONCE A WEEK
DRIVE MECHANISM

ADJUST THE VAR
THROUGH THE F
TO AVOID THE

JAMMING. 0

&

WWW. Datons VWadKin.com



www.DaltonsWadkin.com

3

[LLUSTRATED PARTS LIST

SECTION 5

UNSCHEDULED MAINTENANCE

Unscheduled maintenance consists of replacing
or carrecting items which are worn, damaged, or
are otherwise unserviceable. Generally items
which are defective will be replaced.

These tasks require specialised knowledge and
tools to perform. Following this type of
maintenance, the machine will need to be set up
prior to return to work.

All unscheduled tasks - such as changing
bearings, should be performed by competant
personnel.

Changing Cutterblock Spindle Bearings

The bearings have been fitted to the

cutterblock spindies

FIG 2 SPINDLE BEARING ASSEMBLY

0\< :’
The na&ﬂngs should be charged with 'Kluber’
lubr e 'lsoflex' NBU 15. It is important

correct amount of grease is applied,

in an orthodox manner.
At the non-drive end of the spindle a liquid rably using the formula;

engineering adhesive (Locite’ grade 241)
been applied to the intemnal thread diameter ﬂ%

bearing nut.
NOTE: This nut can be right or raﬂ-h%mad1
dependant upon spindle rotatio % ghtens

against the direction of mtaﬁon.b

To dis-assemble parts joi ‘Lioctite’ adhesive
usa nomal tools and If the holdi
force of the 'Loctite’ joj too great then apply
gentle heat and brea nd while the parts are
still hot. The bondi dhesive may be left as a
powder and must be removed before applying
further adhesive.

Preparation Prior to Fitting Bearings

Before fitting a new bearing, the protective
lubricant must be meticulously removed with
petroleum spirlt, triethamolamine, or other
volatile solvent.

In order to prevent the moving parts from being
damaged by drying out due to over cleaning, add
a small amount of the bearing lubricant to the
cleaning agent at the second bath. The film of
grease which remains after the solvent has
evaporated will provide protection for the bearing
until charged with lubricant.

G (weight in grams) = dxBx0.01
where d = bore of bearing in mm
B = width in mm

This |s approximately sufficient to fill one third of
the bearing volume.

Work must take place in a clean and dry
environment Failure to do so could result in
premature bearing failure.

To remove the bearings: Second Bottom Head

(Fig 2)

(1) Remove pulley assembly from spindle by
unscrewing the M12 hexagon screw (1),
Withdraw pulley (2) and remove parallel key
(3) from spindle.

(2) Remaove bearing nuts (4). Remove existing
bearings (5), using a bearing puller on the
bearing rings. Take care not to damage the
spindle or housing.

(3) Afer Preparation; fit new bearings (5) to
spindle (6) and housing (7), include spring
discs (8) as previously fitted. Use only
sufficient pressure fo fit bearings, applying
pressure to the inner ring only. Ensure that
bearing ring fits up to location shoulder on
the spindle.

www.DaltonsWadkin.com

4-3



www.DaltonsWadkin.com

Wadkin
SECTION 5 ILLUSTRATED PARTS LIST
{4) Reassemble spindie unit, lubricate bearing NOTE: Care must be taken, not to damage
(see Preparation). Fit bearing nuts (4). the spindle (2) or the housing (10). =
Tighten nuts until assembly is secure. Do
not over tighten.
(3) After preparation; fit new bearings (6) to

(5)

(6)

spindle and housing (10), ensuring that the
bearings (6) are fitted the correct way round
and that the bearing spacers (5) are re-
fited. Use only sufficlent pressure to fit
beielrings. applying pressure to the inner ring
only.

Check that the spindle assembly runs freely
and without end float.

Refit parallel key (3), pulley and M12
hexagon securing screw. Tighten screw to
spindle until the assembly is secure.

Ensure that bearing fits up to location
shoulder - bearing (6) must be lubricated
(see preparation) before fitting.

Ensure that bearing fits up to location
shoulder - bearings (6) must be lubricated
(see preparation) before fitting.

) _ (4) Reassembie spi it, fit bearing nuts (3
To remove the bearings - First Bottom , Side & 4). Tighten ntil assembly is secure
and Top heads (Fig 3) (see not changing cutterblock

(1)

(2)

bearings).
Remove pulley assembly from spindle by .
unscrewing the M12 hexagon screw (9), NO s&: NOT OVERTIGHTEN
withdraw spigot (8), pulley (7) and remove
parallel key (11) from spindle. k that spindle assembly runs freely and

(5)
out end float.
Ensure spindle nut (1) has been removed.
Release and remove bearing nuts (3 & Refit parallel key (11), pulley (7), spigot (8)

Tighten screw to spindle until assembly is
secure.

the pulley end (rear) of the spindle

(10). O
Remove existing bearings ( aring
spacers (5), using a hac y on the

The spindle (2) can ﬂﬂwmﬁmm\:ﬂ@ and M12 hexagon securing screw (9).

bearing rings.

FIG3 SPINDLE UNIT

www.DaltonsWadkin.com



ILLUSTRATED PARTS LIST

www.DaltonsWadkin.com

SECTION 5

Replacing Drive Belts

Drive belts must be replaced as a set to obtain
correct drive performance. Before access can be
gained to any drive belt it will be necessary to
remove the guard covers.

To Replace a Drive Belt:

{1) Relieve tension on the drive by reducing
drive cantres. This can be done by aeither,

a. Releasing the fixing bolts on the motor
support bracket and sliding the motor
forward, or

b.  Slackening off the motor tensioner bolt, or
bolts.

(2) Remove old drive beits. Fit a new set of
belts, same size, type and reference (see
Motor Drive Belt Data).

(3) Retension the new belt set (see Vee-Belt
Drive Tensioning - Scheduled
Maintenance}, reversing step (1) a. or b,
as applicable to drive motor attachment.
Secure fixing bolls.

It may at times be necessary lo re Q
drive pulley. The motor shaft re

fitted with Taper-Lock bushes g 4),
cutterblock spindles are parallal
keys.
*
Removel and Refit Drive (Fig 4)
To remove a Taper-L sh pulley:

(1) Slacken off all screws (1) several tums
using a hexagonal key. Remove one or two
screws according to number of jacking holes

(2).

(2) Insert screws in jacking holes after oiling
thread and point of grub screws, or thread
and head of cap screws, as applicable.

(3) Tighten screws (1) alternately until bush (3)
is loosened in pulley hub and assembly is
free on shaft.

(4) Remove pulley assembly from shaft

FIG 4 uuowrﬁ.@nmocx BUSH

To refit a Tapm-@@uu; pulley:-

(1) Ensu mating taper surfaces are

% ly clean and free from oil or dirt.

sh in hub and line up screw holas,

il thread and point of grub screws, or
thread and head of cap screws. Place
screws (1) loosely in threaded heles in hub

of pulley

(3) Clean shaft, fit hub and bush to the shaft as
a unit. Locate in position. On fitting, the
bush will nip the shaft first, then hub will be
drawn onto bush.

NOTE: It is necessary to axially align drive and
driven pulleys.

(4) Using a hexagon key, alternately tighten
screws (1), until all screws are pulled up
securely. Use a short length of pipe on key
to increase leverage.

(5) After the bush (3) has been tightened anto
the shaft, fit the parallel key (4). The key is
side fitting with top clearance.

(6) After the drive has been running under load
for a short time, stop and check tightness of
screws. Tighten if needed.

(T) Fill empty screw holes with grease to
exclude dirt.

www.DaltonsWadkin.com




www.DaltonsWadkin.com

SECTION 4

Wadkin

MAINTENANCE I

Variable Speed Drive Pulleys (Fig 5)

The variable speed drive incorporated within
the feed roll drive is virtually maintenance free.
The only items likely to require attention are the
Simplabelt drive belt and and Vee-belts
transfering the drive to the feedshatt.

The drive consists of the following:

Simplatrol speed control adjuster
Simplabelt mechanically adjusted pulley
Simplabelt spring loaded pulley
Simplabelt vee-belt, wide section

The mechanically adjusted (speed control)
pulley is keyed to the motor drive shaft. Adjust-
ment of the speed control varies the drive pulley
diameter and hence speed. The driven (spring
loaded) pulley is keyed to an intermediate shaft
which transfers the drive via multi vee-belts to
the feedroll drive and gearboxes.

The bottom rolls are driven through a chain
drive taken off the rear of the feedroll gear-
boxes, as applicable, (see Fig 6).

Should it be necessary to repair the feed drive,
or fit a new drive belt, proceed as follows:

To Dismantle

A, General %

(1) Adjust the drive unit to the um out-
put speed before dismantligg, Switch off
drive.

(2) Unscrew setscrews (
cover (2) to obtai
driven (spring loa

remove the half
ess to the belt and
) pulley.

B. Removing wide section drive belt

(1) Unscrew the setscrews (3) and remove the
speed adjustment control (4) complete.

(2) Unscrew hexagon head screws (5) and
remove plate (6) from drive cover, Unscrew
hexagon head screws (7) and remove drive
cover (8) to expose the variable speed pulley
(9).

(3) Remove wide section belt from the variable
speed pulley (9).

Dismantling variable speed pulleys from
motor and intermediate drive shaft

a. Mechanically adjustable variable speed
pulley (motor shaft)

(1) Unscrew axal tightening screw (10) and
remove end cap (11).

(2) Position a swtable extractor behind the
circlip of the pulley and with an extractor,
remove pulley (9) from the motor shatt.

b. Spring loaded variable speed pulley (driven
shaft)

(1) Unscrew axial tightening screw (12) and
remove cap (13).

(2) Remove the sprin pring retaining cap
with a suitable or. Then using an ex-
tractor (grippi hind the hub flange)
remove the p ! (14) from the shaft.

*

D. Re and Intermediate Drive
( Db, ew setscrews (1) and (7) and remove
er from drive.

emove drive pulleys as items A, B and C

6 above,
(3) Unscrew hexagon head screws securing

motor to bedplate and remove motor.

@ (4) Remove intermediate drive as for Remove

and Refit Drive Pulleys (Fig 4).

To Re-Assemble

The re-assembly procedure is the reverse se-
quence to dismantle. ie: steps D,C,B,A.

(1) When refitting the wide section drive belt;
first place belt onto the fully opened
mechanical variable speed pulley (9), then
over the rim of the spring loaded variable
speed pulley (14). Adjust the speed control
only with the motor running.

Note: Only original 'SIMPLABELT’ wide sec-
tion drive belts must be used on the variable
drive,

Spare Parts

When ordering spare parts, all the information
shown on the item nameplate must be quoted.

www.DaltonsWadkin.com



www.DaltonsWadkin.com

:

MAINTENANCE SECTION 1

FIG5 VARIABLE SPEED DRIVE

www.DaltonsWadkin.com

-7



www.DaltonsWadkin.com

Wad
SECTION 4 MAINTENANCE l

Shaft Drive System (Fig 6)

The GS woodwurkjn% machine can be fitted
with shaft drive to the feedworks in place of the
chain dnive.

The primary drive from the variable speed drive
is by solid drive shaft and couplings to gear-
boxes at each head and is virtually maintenance
free. Power transfer to the feedrolls is via right-
angle gearbox and sprocket from the rear of the
gearbox.

The final drive chain to the bottom feedrolls is
adjusted from the rear of the machine by
slackening the securing screws on the bottom
bearing housing and repositioning the housing
to take up chain slack. Retighten the screws to
secure in position.

Cutters and Tool Holders

When choosing cutters, make sure they are
suitable for the speed of the machine,
Dynamically balance and check for defeats and
cracks.

The life of a cutterblock is directly related to the
quality of the steel and nature of timber to be
worked. It is impossible to give exact values of
cutter life; the following is a guide.

High speed steel HLS  2-5 hours
Very high speed steel HSS 3-8 hours
Carbide steel HM  20-70 hours

Honing at regular intervals will prolong the life
of the cutters. When regrinding cutters it is very
important to ensure the edge does not become
overheated. Overheating can be prevented if
light grinding cuts are taken.

Ensure that all cutters ultiple cutterblock
are the same, the obj being all should cut
the timber evenl equally. The perfor-
mance of any tmlﬁﬂaends to a large extent on
the care in th it is used. The life of the cut-
ters and th ace finish of the workpiece are
direiﬂ}r to the care which is given to the
work,

FIG6 FEED ROLL DRIVES AND GEARBOXES

COUPLINGS

www.DaltonsWadkin.com




www.DaltonsWadkin.com

MAINTENANCE

FAULT FINDING

Mechanical Faults

Apart from mechanical failure (breakage) the
majarity of mechanical faulls can be attributed to
incaorrectly tensicned drive chains or beits; the

Elimination of Vibration

It is important to check condition and tension of
the cutter spindle drive belts regulary (see
Scheduled Maintenanc,

SECTION 4

setting of cutterblocks and cutterblades; items
working lose due to vibration - failure to set or
tighten correctly; wrong speed setting; or misuse.

the cutters are evenly
e In the cutterblock, the
ock should be statically
ng to the spindla.

It is also importan
ground and set
assembled cutt
Therefore to get the best performance it is balanced
essantial that the machine is set-up and used
correctly, when many mechanical faults can be f high speed machines it is highly
avolded. re ded that cutterblocks be dynamically

Q@$ o). (see Malntenanca: Cutjar: and Tool
xO
>

The machine dss.;t run when any 'START" button Is oparated

Electrical Faults

FAULT
Dlagnosis
a. Disco (isolator) switch has not been closed
b. Maj @ or control circuit fuse has blown
c. Overl0ad relay has tripped
Remedial Action
a. Check and close if needed
b. Replace fuse
¢. Reset relay. Check reason for trip
FAULT A motor does not start - loud humming sound
Dlagnosis

a. An open circuit in at least two ‘line leads’ of the motor
b. Tha fuses of the motor have blown

Remedlal Actlon
a. Check circuit and rectify
b. Replace fuse

s Daltons\Wadkin.cam




www.DaltonsWadkin.com

2ECTION 4 MAINTENANCE I

FAULT An air break magnetic contactor does not operate

Diagnosis
The centacts are burmed and make improper contact

Broken connection wire
An overload relay has tripped
A fuse has blown

apow

Remedial Action
a. Clean or replace contacls

b. Remakes connections
c. Reset relay. Check reason for overioad @
d. Replacs fuse O

FAULT A Star/Deita connected motor does not operate %& connector Is connected in
Star ¢

Remedial Action &
a. Check/Remedy the symptoms outlined | raph above

FAULT When a motor is started, the fuse nd the overload relay trips

Diagnosis
a. The motor does not run
b. There is a short circui

b. Check the wiring
c. Check th ngs in tum for electrical continuity and also earth faults with a '"Megger’

Remedial Action Q
a. Check that ﬂ1§ is free running

FAULT The mn@wnrhnﬂ when running 'light’ (unloaded)

Diagnosis
a. The motor windings are connected in deita instead of star
b. The mains voltage is too high
¢. The ventilating air ducts of the motor frame have become blocked with dust or chips,
the cooling air passage has become impeded, or the cooling fan (if fitted) is not
functioning comectly
RemedIlal Action

a. Check connections
b. Check mains voitage and cormact
c. Clean airways. Check fan operation

4-10

www.DaltonsWadkin.com



www.DaltonsWadkin.com

Wadkin
' MAINTENANCE SECTION 4

FAULT Motor ovarheats whila working

Diagnosis
a. The motor is overoading
b. The motor is running under single phase conditions

Remedlal Actlon
a. Check reason and comect
b. Check electrical circuits

FAULT The motor makes an abnormal noise

Diagnosis
a. The cause can be of a mechanical or electrical nature
b. If the noise is caused by an electrical fault, the noise will d@r when power is
switched off
c. If the noise is caused by a mechanical fault, the noise inish as speed of rotation
decreases

*
>
Remedial Actlon \Q
a. Establish mechanical or electrical origin %
b. Check symptoms. Deduca by eliminati e position and nature. of fault
FAULT The Alr Break Magnetic Starter is

Diagnosis 6

a. The mains voltage is too lo
b. The surfaces of the ‘ﬁx& moving' contacts are dirty

Ramedilal Action
a Check mains voifage\s
b Clean or repl

FAULT Tha air netle starter remains 'closed’ after a STOP button has been

oparated
Diagnosis $

a. The contactor ‘fixed' and 'moving' contacts have welded together following a short

circuit
Remadlal Actlon

a. Check and remove cause of the short circuit. Replace the damaged contacts. It may
be

necessary to repiace the complete contactor if oo damaged

FAULT A fault condition arises on a motor and the overload current relay falls to operate

Dlagnosis
a. The overioad relay may be incorrectly rated - it should corespond to the normal full load

curment of the motor (given on the motor nameplate) for Direct-on-Line starting
b. If the overioad relay is connected in a Star/Deita starter, the rating of the overload
should be the normal full load current of the motor (given on the motor nameplata)
multiplied by 1/1.73 (0.58)
Remadial Actlon
a. Replace with correctly rated relay

www.DaltonsWadkin.com

4-11



www.DaltonsWadkin.com

SECTION 4 MAINTENANCE 'l

FAULT A Spindle stops, but the motor still runs

Diagnosis
a. The drive belts are loose, broken, or have come off

Remedial Action
a. Retension or replaca beits

FAULT The rise and fall drive motor does not operate

Dlagnosis
a. The limit switch on the top horizontal head, or tha limit switch end of the machine
is jammed by wood chips or is damaged
b. The push button is faulty 0
Remedial Action . Q‘
a. Check and clean the limit switches N\ l\
b. Check and clean the push button 6
FAULT If the limit switch between the Top H am Is operated simultaneously with
gither of the two Beam Vertical Tra mit switches, the Beam will not lower
Diagnosis 6
Disengage the clutch on top he anually wind down the top head until limit switch is
released, then bring beam normal procadure (pushbutton control)

annaml nature and intended to be of assistance to avoid the
rot preclude the user from calling a qualified electrician. In the case
, in the interest of personal safety, it Is always advisable to call a

repeats.

The foregoing observations a
incidenca of breakdown. Th
of a electrical fault or bre
qualified electriclan if th

4-12

www.DaltonsWadkin.com



www.DaltonsWadkin.com

Wadkin
MAINTENANCE 5ECT]D'\} 4
TABLES
APPROVED LUBRICANTS
WADKIN | cASTROL | B.P. SHELL | moBiL | ESSQ™ | GULF | cALTEX
L1 Hyspin | Energol Vitrod Dte OF Nuto 44 \@nw Rando
AWS 22 HLP 32 a2 Light zc\& 43 AW Ol HDA
" Esatio
O
L2 Alpha Energol Vitrea g Esstic Sanrdce URSAP40
ZN 150 HP 150 150 N 85 13
or heavy
CS 150 C
L4 Magna 68 Vactal Esstic Sendce URSAP20
HP &8 58 5 ol 50 51
ar ‘\ Heanvy
Cs 88 Madium
La Sphaaml En@mm Mo bilplax Beaacon Guiferown | Regal
AP Greass Greass k| Greass Startak
. No 3 Mo 48 Mo 3 Pramium 3
L1 OIL Hydraulic oil with anti-comision, anti-oxidation, anti-wear, anti-foam performance
L2 OlL Gear oil (viscosity 150 centl - strokes at 40 degrees C)
L4 OIL Plain mineral oil (Viscosity 68 centi - strokes at 40 degrees C)
L6 GREASE Greasa NLG1 No 3 consistancy Lithium bearing grease

The worm drive gearboxes are supplied filled to the comect level with a semi-fluid grease, IP Tevela
Compound A. No maintenance will normally be required on these gearboxes which are sealed for life.

The variable speed unit gearbox can be refilled with Wadkin L2 oil.

www.DaltonsWadkin.com

4-13



T

SECTION 4

www.DaltonsWadkin.com

MAINTENANCE

7 4

[

4-14

www.DaltonsWadkin.com



www.DaltonsWadkin.com

ILLUSTRATED PARTS LiST SECTION 3
MOTOR AND DRIVE BELT DATA
T
inics and puleys for spindle drive to FIRST BOTTOMN HEAD kercz
Mator Motor Pulley Tapar lock Bush Salts Spindle Spindle
pullay peed
Frame Fenner Wadkin Bore Faaner Wadkin Fenner |Wadkin wadkin
Size |[K.W |H.P Ref Code M.M Refl Code Ref Coda Quan| Number t.2.M
12 |5.5 | 7.5 031203031 x1078245| 28 2012 K3077114) =PZI010IKI0O7T k | GA1475 s8210
N\
N ]
Beltx and puleys for spindle drive te  FENCE SIDE HEAD L] rtz
* g\:
Mocor Mocor Pulley Taper lock Bush N \ its Spindle Spindle
}% pulley spaed
0y
Frama Fennar Wagkin Bore Fenner ¢l Stephens| Wadkin Madkin
Size |K.W |H.B Raf Code M. M Aaf & Ref Code Suan| MNumbar a.p.M
pLy2 |5.5 r.5 GAL458 METEOR K3I005472 GAL4327 #0650 |
Qo o |
Aelcs and puleys for spindle dri @ %ﬂ SIDE HEAD 50 herte
Mocar Motor Pulley o Taper lock Bush Balts Solndle Spindle
pullay spand
Frame Fenne §dkin dore | Fenner Wadkin Scephens | Wadkin Wadkin
5ize |K.W |H.P Ref Code MM Bef Code Ref Code Quan| Number R.P.M
2132 |5.5 | 7.5 GAl488 METEOR |X2005472) 1 GAL487 F000
CEGP
NRARRES
1520 XSo
Aples and puleys for spindle drive to TOP HEAD 50 hertz
Motor Motor Pulley Taper lock Bush Belts Spindle Spindle
pulley spaad
Frame Fenner Wadkin | Bore | Fenner Wadkin Fenner |Wadkin Wadkin
Size |K.W |H.P Ref Code M.M Ref Code Ref Code Cuan| Number R.P.M
P
112 7.3 |10 03120303 KIOVB245 18 2012 K3IQ77113| sp2lolo|k3a?rils]| J GAl1475 Q00 "

www.DaltonsWadkin.com

4-15



SECTION 5

www.DaltonsWadkin.com

ILLUSTRATED PARTS LIST

Belts and puleys for spindle delve to SECOND BOTTOM HEAD 30 hercz
. doror Mocar Pulley reaper lock Bush Helts Zpindle la
ol le
CAmE Fanner Wadkin Bore Fenner wadkin Faaner |Wadkin wadkin
Size |K.W |H.P Raf Code MM Ref Code Ref Code Gian| Number R.E.M
pldz | %.5. |14 03120223 | K3078218 I8 2012 KEIQ77113| sP2850 |K30T7RZ18| 3 GA410 s000

4-16

www.DaltonsWadkin.com




UJnr..Ih www.DaltonsWadkin.com

Do~ W =

SECTION 5 ILLUSTRATED PARTS LIST

CONTENTS

Bedplates

First and second botlom head height adjustment

Fence and near side head camiage adjusting mechanism

Top head height adjustment including powered rise and fall
Bottomn (excluding first) and top head axial adjustment

Beam power rise and fall O
Simplabelt variable speed drive unit

Drive shafts to rise and fall for beam and top head N .
Top head chipbreaker, pressure pad and extraction hood \Q
Double side roller pressure unit

Mounting for Top pad or roller pressure unit befora T ad

Top roller pressure unit

Bottom head spindle unit - 40mm diameter s oulder

MNear Side head spindle unit - 40mm diam re shoulder
Fence side head spindle unit - 40mm dlarr% are shoulder
Top head spindle unit - 40mm diametery shoulder ulder
First bottom head spindle with 40m ter square shoulder
Single side roller pressure unit fence side head

Single side roller pressure unit

Anti-kickback fingers

Feed roll drives and geam@
MNear side head chipbreaker,
Fences $

Bottom feedroll dri nsfer
Single throughf arbox used with bottom roll drive

Double throu gearbox

www.DaltonsWadkin.com

5-1



DaltonsWadkin.com

kin

www.

SECTION 3 ILLUSTRATED PARTS LIST il'
¥
"y

FIG1 BEDPLATES

52 www.DaltonsWadkin.com



www.DaltonsWadkin.com

Wadkin
ILLUSTRATED PARTS LIST SECTION 3

1 BEDPLATES
Ref No. Desctiption No. Off
1 Bedplate with driven bedroll 1
2 Bedplate after first bottom head 1
3 Fence side head carmiage 1
4 Bedplate between side heads i
S Mear side head carriage 1
(] Bedplate after near side head 1
7 Bedplate before/after second bottom heads 2
8  Fill-in fing for side heads 2
9 Optional bedplate after near side head for front fence scale setting 1
10 Optional bedplate before second bottom head for splitting @ 1
11 Optional "parmali’ insert for spliting O 1
12  Optional bedplate after second bottom head for splitting 1
13 Optional 'permali’ bedplate before second bottom head for top Qﬂ

splitting N ¢ 1

www.DaltonsWadkin.com

53



www.DaltonsWadkin.com

SECTION 5 ILLUSTRATED PARTS LIST

ITEMS 1 TO4ONLY ON FIRST BOTTOM HEAD

E1 33 0 2 B ,, 4 1 2 W

FIG2 FIRST AND SECOND BOTTOM HEAD HEIGHT ADJUSTMENT

5—4 www.DaltonsWadkin.com



www.DaltonsWadkin.com

Wadki
Ii ILLUSTRATED PARTS LIST SECTION 3

2, FIRST AND SECOND BOTTOM HEADS

Ref. No. Description No, Off

Handwheel, standard, black plastic moulding, M12 blind hole
Locking screw for guard, First Bottom Head cutterblock
Locking pad for cutterblock guard

Top sliding guard, First Bottom Head

Slide strip
Bottom Head spindle housing, vertical slide @
Pulley belt housing, horizontal heads O
Spindle pulley, Bottom and Top Heads

Fenner vee belt, SPZ850 o

Fenner vee bell pulley (see tables) ¢ Q
Fenner Taper-lock bush (sea tables) \
Hexagon head scraw, M10 x 30mm lo
Spring washer, 10mm diameter, si
Bracket nut, Bottom Head verti
Vertical adjustment screw, Fi
Hexagon socket capscrews, %
Bevel box, Bottom Head v

Bevel gear wheel
Bearing washer, @Jﬁum
Thrust washer \

=]
=
[ #5]

75mm long
adjustment

NNM—I—I—L;_L_L_L_I._.._L._LM i
N—-ODBNOOhWNag  BHNOORGN

M16 hexago
Parallel key x Smm x 20mm long

22a Parallel ke x Tmm x 20mm long
Bevel jrian
Circli m external, pinion shaft (not shown)
Th sher

e bush, 25mm ID x 30mm OD x 25mm long
Erd cap, bevel box

Hexagon socket capscrews, M6 x 20mm long
Collar

Extension shaft, bevel gear

Bearing bracket, extension shaft

Bronze bush, 20mm ID x 25mm 0D x 25mm long
Hexagon socket capscrews, M6 x 20mm long
Calibrated dial, GAE768

Square end shaft extension

Taper pin, No.5

Extension shaft, verlical lock

Locking handle, M12 x 25mm, male

Main frame

Cover, bevel box

Front guard, Bottom Head spindies

Top cover, bevel gear

el il ¢ B B T T 5 T N (LT N A T N U N (O A N S Y,

o bW W WL W O L L L M R MBI B B M
M-Lﬂtﬂmﬂﬂ‘hguh}-ﬂtﬂmﬂmﬂlhu

www.DaltonsWadkin.com



www.DaltonsWadkin.com

Wadk
SECTION 5 [LLUSTRATED PARTS LIST II

NEARSIDEHEAD

DIGITALREADOUT

2 3 7.8,9.10 M4 5 29

FIG 3 FENCE AND NEAR SIDE HEAD CARRIAGE ADJUSTING MECHANISM

H www.DaltonsWadkin.com



www.DaltonsWadkin.com

ILLUSTRATED PARTS LIST SECTION 3

Sn

3. FENCE AND NEAR SIDE HEAD CARRIAGE UNIT ADJUSTING MECHANISM
(INCLUDING RISE AND FALL WHEN FITTED)

Ref. No. Description No. Off
1 Exhaust hood (Fence Side illustrated) 1
2 Fence or Near Side Head spindle carriage 1
3 Nut for lateral movement 1
4 Calibrated dial 2
5 Horizontal shaft for lateral movement @ 1
6 Front horizontal shaft for vertical movement 1
7 Nut for vertical adjustment O 1
a Hexagon head screw, M10, dia. x BOmm 1ung C) 1
3 Bright mild steel washer size M10 2
10 Hexagon nut, M10 1
+ 11 Rear horizontal shaft for vertical adjust 1
12 Mitre gear bracket for side head verli ;stment 1
13 Collar for horizontal shaft for verti tment 1
14 Straight mitre bevel gear (16T 2. 2
+ 15 Hexagon socket screw - cup dla. x 6mm long 2
16 M12, self locking nut 1
17 'INA' bearing AXK25-$2 2
18 'INA’ bearing AS254 2
19 ‘INA' bearing LS2 2
20 Chamfered notch 24 x 1.5 2
21 Vertical s head vertical adjustment 1
22 Large dia. Mil | washer size, M10 1
23 Hexagon screw, M10 x 20mm long 1
24 r fence or near side head spindle barrel 1
25 ock for-side head horizontal movement 1
26 1
+ 27 2
+ 28 L'} Hing 2
29 Locking handle, M12 x 25mm, male 1
+ 30 Mitre gear bracket guard 1
+ 3 Key, 5 x 5 x 20 3
+ 32 'INA' bearing thrust washer 1
+ 33 Grease nipple 4
34 Locking handle, M10 x 25mm, male 1
+ as Brass pad, dia. 6 x Smm 1
36 Bearing plate 1
+ 37 'INA’ bearing AXK2035 2
+ 38 "INA’" thrust washer AS2035 3
+ 39 'INA" shaft washer WS81104 1
40 Digital readout (fence side head) 1
41 Digital readout (near side head) 2

+ Not illustrated

www.DaltonsWadkin.com



www.DaltonsWadkin.com

SECTION 5 [LLUSTRATED PARTS LIST lli

' T
1)
\

-3 u

13

14
15

17
17a

16
l6a

FIG4 TOP HEAD HEIGHT ADJUSTMENT INCLUDING POWERED RISE AND FALL

H www.DaltonsWadkin.com



www.DaltonsWadkin.com

adkin

i

i I .:‘ = % T TIe
ILLLUSTRATED PARTS LIST SECTION 5

4. TOP HEAD INCLUDING POWER RISE AND FALL

Ref. No, Description No. Off
1 Fenner vee balt pulley 1
2 Fenner vee belt, SPZB50 20r3
3 Slide strip 1
4 Top head vertical slide 1
5 Vertical screw, Top Head rise and fall 1
6 Brackst nut, Top Head rise and fall 1
7 Hexagon head screws, M8 x 25mm long 2
8 Top cover, gearbox/clutch housing @ 1
9 Socket head capscrews, M6 x 10mm long O 4
10 Bevel gear wheel i
1 Worm gear, rise and fall top beam/head 1
12 Bearing, 6204 RS . ¢ 2
13 Dogclutch, Top Head rise and fall N\ 1
14 Circlip, 16mm external (not shown) % 1
15 Spacar washer 1
16 Tension pin, Bmm x 32mm Icni E @ 1
16a Hexagon socket screw cup polfl x 6mm long 1
17 Gearbox/clutch housing 1
17a Socket head capscraws, 30mm long 4
18 Spacer washer 2
19 Circlip, 30mm exte 2
20 Bottom cover, gea tch housing 1
20a Securing 16mm hex. sockat 4
21 Thrust 2
22 Plain washer, 1
23 nut 2
24 , 25mm 1D x 30mm OD x 20mm long 1
25 socket screw, cup point, M6 x 10mm long 1
26 location arm 1
27 shaft ' 1
28 Spring, clutch location arm lock 1
29 Steel ball, 10mm diameter 1
30 Locking handla, M10 x 25mm, male 1
31 Clutch yoke, top head rise and fall 1
a2 Hexagon socket capscrews, M6 x 10mm long 2
a3 Parallel key, Bmm x 7mm x 32mm long 1
34 Worm wheel, Top Head rise and fall 1
35 Parallel key, 8Bmm x Tmm x 14mm long 1
36 Bronze bush, 30mm ID x 3§mm OD x 20mm long 1
ar Circlip, 16mm external (not shown) 1
38 Parallel key, Smm x Smm x 20mm long 1
39 Spacer washer 2
40 Bevel gear, pinion 1
41 End cap, bevel box 1
42 Socket head capscrew, M8 x 20mm long 3
43 Bronze bush, 20mm 1D x 25mm OD x 25mm long 1
44 Callar 1

www.DaltonsWadkin.com



www.DaltonsWadkin.com

Wadki
SECTION 3 ILLUSTRATED PARTS LIST l i

o,

Lttt

¥

FIG 4 TOP HEAD HEIGHT ADJUSTMENT INCLUDING POWERED RISE AND FALL

www.DaltonsWadkin.com

510



www.DaltonsWadkin.com

[LLUSTRATED PARTS LIST SECTION 5

4, TOP HEAD INCLUDING POWER RISE AND FALL (Cont.)

Ref. No. Description No. Off
45 Hex. socket screw - cup point, M6 x 6mm long 1
48 Extension shaft @ 1
47 Bearing bracket, extension shaft O 1
48 Bronze bush, 20mm 1D x 25mm OD x 25mm lo 1
49 Hex. socket capscrews, M8 x 20mm long 2
50 Digital readout . ¢ 1
51 Square end shaft extension \ 1
52 Taper pin, No.1 6% 1
53 Main frame 9
54 Locking handle @ 1
55 Extension shaft, vertical | 1
56 + Hex. head screw, M12 x 4
57 + Circlip (safety featura) 1
58 + Spring (safety fea 'Q 1

+ Not ﬂllmm% ment of gearbox/clutch housing to mainframe.

$ R
&

www.DaltonsWadkin.com

5-11



www.DaltonsWadkin.com

SECTION 5 ILLUSTRATED PARTS LIST

18

19

=

LEd
-

17

FIGS BOTTOM (EXCLUDING FIRST) AND TOP HEAD AXIAL ADJUSTMENT

www.DaltonsWadkin.com

512



www.DaltonsWadkin.com

[LLUSTRATED PARTS LIST SECTION 3

8. BOTTOM (EXCLUDING FIRST) AND TOP HEADS AXIAL ADJUSTMENT

Ref. No. Description No. O
1 Nut for horizontal head adjustment 1
2 Shaft for horizontal head adjustment 1
3 M24. x 1.5 chamfered notch nuts @ 2
4 Bearing bracket for horizontal adjustment O 1
5 'INA" bearings AXK2542 0 2
B 'INA' bearings AS2542 4
7 Sprocket for horizontal head axial adjustme ¢ 2
8 'RENOLD' Roller chain No. 111046 12 2in.) pitch, 40 pitches
including connecting link % 1
9 No. 4 taper pin 2
10 Shaft % 1
1 20mm 1D x 25mm OD x 20m nze bush 2
12 Extension for vertical lock to ntal heads 1
13 Locking handle M12 x 25marynale 1
14 Universal coupling and tube assembly for horizontal head
adjustment 1
15 Universal couplin re tube assembly for horizontal head cross
adjustment 1
16 6mm dia, ng tension pin 1
17 Shaft for ho | head cross adjustment 2
18 Bearing 1
19 Digi ut 1
20 5 haft extansion 1
21 pin, No.1 1

www.DaltonsWadkin.com



www.DaltonsWadkin.com

>ECTION 5 [LLUSTRATED PARTS LIST

BEARING ARRANGEMENT:=
RISE AND FALL LEADSCREW

FIG 6 BEAM POWER RISE AND FALL

www.DaltonsWadkin.com

5-14



www.DaltonsWadkin.com

ILLUSTRATED PARTS LIST SECTION 3

B. BEAM POWER RISE AND FALL

Ref. No, Description No. Off
1 Top beam slide bracket 1
2 MNut for rise and fall leadscrew 1
3 Rise and fall leadscrew 9
4 Top cover for wormgear housing 1
5 Wormgear housing O 1
6 Worm @) 1
7 Worm whaal . 1
8 Bearing SKF or RHP 6204-RS \Q 2
a9 Intemal circlip 47mm dia. % 2
10 Bush 25mm ID x 30mm QD x 20mm ran 1
11 Key 6mm x 6mm x 32mm long @ 1
12 Thrust washer 'INA' AS2035 3
13 Thrust bearing 'INA" AXK - 203 2
14 Shaft washer 'INA' WS81104 1
15 Bush 20mm ID x 25mm D@n long 1
16 Hexagon locknut M20 2
17 Hexagon socket ca 6 x 25mm long 4
18 Hexagon socket ca M8 x 30mm long 4
19 Hexagon sock M8 x 60mm long 4

$ .
$$

www.DaltonsWadkin.com 5-=15



www.DaltonsWadkin.com

SECTION 3 ILLLUSTRATED PARTS LIST

13

DRIVE SHOWN
OUT OF

POSITION FOR
CONVENIENCE

FIG7 VARIABLE SPEED DRIVE UNIT

www.DaltonsWadkin.com

5-16



www.DaltonsWadkin.com

[LLUSTRATED PARTS LIST SECTION 35
7. VARIABLE SPEED DRIVE
Ref. No. Description No. Off

| Drive cover, half, fixed 1

2 Drive cover, half, removable 1

3 Standard 3 phase motor, foot mounted 1

4 Pulley, mechanically adjustable (motor shaft) 1

5 Locking plate @ 1

6 Washer disc, or nut O 1

7 Screw, hexagon head 1

8 Vee-belt wide, Simplabelt 37/900, K30.78.414 .

9 Pulley, spring loaded (driven shaft) Q 1
10 Locking plate \ l\ 1
11 Washer disc, or nut 6 1
12 Screw, cheese head 1
13 Hand adjuster @ 1
14 Lock washer, spring 4
15 Screw, cheese head 4
16 Cover plate % 1
17 Screw, hexagon head Q 4
18 Lock washer, spring 4
19 Pulley, drive, Fenner 0 04 (28M)

- Taper Lock, bore 1
20 Vee-belt, Alpha'4 140 4
21 n
= 1

Pulley, driven, F 031Z 0304 (28M)
Taper @ 2517-28 bore

&

www.DaltonsWadkin.com

5-17



www.DaltonsWadkin.com

8 11

FIG 8 DRIVE SHAFTS TO RISE AND FALL FOR BEAM AND TOP HEAD

5-18 www.DaltonsWadkin.com



www.DaltonsWadkin.com

ILLUSTRATED PARTS LIST SECTION 3

8. DRIVE SHAFTS TO RISE AND FALL FOR BEAM AND TOP HEAD

Ref. No. Description No. Off

—

‘Brook’ D8O 0.37kW 750 pm
3ph 50 Hz (specify particular voltage)

Packing strip for motor

Motor mounting bracket

Callar (motor to first worm gear housing) O
Collar 0

Connecting drive shaft .
Caonnecting drive shaft ’\Q
Square end adaptor %
Compression spring 6
External circlip 30mm dia. @

Taper pin No 2

Nyloc grubscrew M6 x Bmm Im$

Key 6mm x 8mm x 20mm lo
Hexagon head setscrew mm long

Spring washer M8 \O
e
$ .

&

hhuh-_n_n..‘_‘_..h_l.n_-n_l

b ll el ol
GRLnIgPENOOLLN

www.DaltonsWadkin.com 5-19



www.DaltonsWadkin.com

ILLUSTRATED PARTS LIST

SECTION 5

13

12

=

FIG9 TOP HEAD CHIPBREAKER, PRESSURE PAD AND EXTRACTION HOOD

www.DaltonsWadkin.com

5~20



www.DaltonsWadkin.com

ILLLSTRATED PARTS LIST SECTION 3

a, TOP HEAD CHIPBREAKER, PRESSURE PAD AND EXTRACTION HOOD
Ref.Mo. Description No, Off

Tee-nut, M10, ref. WDS 684 203
Screwed stud, M10 x 45mm long

Washer 10mm, bright mild steel

Hexagon nut, M10

Hexagon socket screw, half dog point, M6 x 35mm J?
Hexagan nut, M6

Gib strip, nse and fall bracket, Top Head pressu
Slide, rise and fall, for shoe Top Head pressuf@

Bracket, rise and fall, Top Head pressura
Screw, raise/lower, Top Head pressure
Compression spring, Top Head pres

Top plate, Top Head pressure pa

Hexagon socket screw, M8 x 2
Handwheel, M12 blind hole 6
Taper pin. No.0

Hexagon nut, thin, M12 Q
Washer, 12mm, brig el
Exhaust hood, Top He

Hexagon head sesg o M12 x 40mm long
Plug, spring lo .@> Top Head chipbreaker

Cap, Top Head c pbreaker spring
Spring, To%ad chipbreaker

g

Washer, , bright mild steel
Hexa t, M10
5 stud, M10 x 50mm long

Pivot'bracket, Top Head chipbreaker
Plunger, spring loaded Top Head chipbreaker
Pivot shaft, Top Head chipbreaker

Parallel key, 8mm x 6mm X 32mm long
Helder, Top Head chipbreaker shoe

L3RI R BRI RI R BRI R R MO R — i ci
CODNDOMEPON OO IR RSP NO AWM -
_n._\_l.—L.—L_L—.L_L-L_L_l.._;-..n_LMNM_L_L_;_._._.M-L_‘M_‘_I__‘J_‘__LUQMMMM

M Washer, chipbreaker pivot shaft
az MNut, M12, self locking
33 Shoe Top Head, 70mm long
- Shoe, Top Head, 82mm long
Sheoe, Top Head, 105mm long
34 Chip deflector, Top Head chipbreaker
as Cross tenon for shoe, Top Head pressure
3§ Shoe, Top Head pressure
a7 Cover, Top Head pressure pad

www.DaltonsWadkin.com



www.DaltonsWadkin.com

Wadki
SECTION 5 _ ILLUSTRATED PARTS LIST

10. DOUBLE SIDE ROLLER PRESSURE UNIT
Ref. No., Description No. Off
1 Bracket, double roller side pressure unit 1
2 Pin, side pressura rcller 2
3 Pressure roller 2
4 Sliding shaft, pressure roiler 2
5 Infeed pressure spring 2
5] Casing, spring, pressure roller 2
7 Pressure adjusting screw 2
8 Nylon domed plug, black, 8mm hole 2
9 Hexagon head screw, M12 x 35mm long 2
10 Washer, 12mm, bright mild stesl 2
11 Circlip, 20mm external O 2
12 Bearing, SKF 6004 2RS C) 2
13 Tension pin, 8mm x 30mm long . Qo 2

\ 2

14 Tension pin, Smm x 30mm long l

FIG 10 DOUBLE SIDE ROLLER PRESSURE UNIT

www.DaltonsWadkin.com

5-22



www.DaltonsWadkin.com

adkin
ILLLSTRATED PARTS LIST SECTION 3

1", MOUNTING FOR TOP PAD OR ROLLER PRESSURE UNIT BEFORE TOP HEAD

Ref. No Description No. Off
1 Bracket, lop pressure 1
2 Horizontal bar, longitudinal adjustment @ 1
3 Horizontal bar, transverse adjustment 1
4 Split clamp, top pressure horizontal bars O i
5 Screwed stud, M10 x 55mm long 1
6 Hexagon nut, M10 . 1
7 Washer, 10mm, bright mild steel ¢ Q 1
8 Hexagon socket screw, M10 x 25mm \ 2
9 Hexagon head screws, M12 x 40mm 2

FIG 11 MOUNTING FOR TOP PAD OR ROLLER PRESSURE UNIT BEFORE TOP HEAD

www.DaltonsWadkin.com

523



www.DaltonsWadkin.com
SECTION 3 [LLUSTRATED PARTS LIST

L7

8,9

6,11,12 e

.

FIG 12 TOP ROLLER PRESSURE UNIT

www.DaltonsWadkin.com

24



www.DaltonsWadkin.com

[LLUSTRATED PARTS LIST SECTION 3

12. TOP ROLLER PRESSURE UNIT

Raf. No.

Description No. Off

Barrel, top pressure roller

Spring tensioner, top pressure

Split clamp, top pressure barrel @
Roller arm, top pressure O
Roller, top pressure

Raller pin, top pressure 0
Spring, infeed pressure . Q‘

Tension pin, 8mm dia. x 24mm long \

tension pin, Smm dia. x 24mm long
Hexagon head screw, M12 x 45mm Ju

Circlip, 20mm external
Bearing, SKF 6004 2RS @
\O

$$

el L B R e o Y S e

www.DaltonsWadkin.com

5-25



www.DaltonsWadkin.com

E

SECTION 5 ILLUSTRATED PARTS LIST

FIG13 BOTTOM HEAD SPINDLE UNIT - 40MM DIAMETER SQUARE SHOULDER

>

www.DaltonsWadkin.com
5-26



www.DaltonsWadkin.com

[LLUSTRATED PARTS LIST SECTION 3

13. BOTTOM HEAD SPINDLE UNIT - 40MM DIAMETER SQUARE SHOULDER
Ref. No. Description No. Off

Bottom head spindle locking nut

Bettom head spindle, 40mm dia. square shoulder

Bottem head spindle, bearing nut

Bearing nut spindle housing

Bearing 'RHP' or 'SKF' 6009

Horizontal spindle barrel @
Bearing 'RHP' or 'SKF' 6306 O
Prallel key 8mm x 7mm x 40mm long 0

Pulley spigot for spindle .

Hexagon head screw M12 x 45mm long ‘\Q

'BELLEVILLE' series 'K disc spring 6%

* 'KLUBER' grease packed @

L

O B LW R -
o R R S N Nl A S S L

- ek (D @
== O

www.DaltonsWadkin.com

=27



www.DaltonsWadkin.com

SECTION 5 ILLUSTRATED PARTS LIST

FIG 14 NEAR SIDE HEAD SPINDLE UNIT

5-28

www.DaltonsWadkin.com



Wadkin www.DaltonsWadkin.com

ILLUSTRATED PARTS LIST

SECTION 3

14. NEAR SIDE HEAD SPINDLE UNIT - 40MM DIAMTETER SQUARE SHOULDER

Ref. No. Description

Lacking nut

40mm square shoulder near side head spindle
Nut for spindle front bearing L.H.

Nut for spindle barrel front bearing

Bearing spacer rings

R.H.P. paired bearings 7008 TDUF EPT

Spindle pulley (refer to motor and drive beit data)
Pulley spigot for spindie

Hexagon head setscrew M12 x 45mm

*
it = - Rt =S TR SRR N T

== O

Parallel key 8mm x 7mm x 40mm long

*
* KLUBER Greased Packed l‘\Q

Barrel housing 0

No. Off

T T T ST S L T % R R e

www.DaltonsWadkin.com

5-29



www.DaltonsWadkin.com

SECTION 5 ILLUSTRATED PARTS LIST

FIG15 FENCE SIDE HEAD SPINDLE UNIT - 40MM DIAMETER SQUARE SHOULDER

5—3“ www.DaltonsWadkin.com



www.DaltonsWadkin.com

Wadk
ILLUSTRATED PARTS LIST SECTION 3

15, FENCE SIDE HEAD SPINDLE UNIT - 40MM DIAMETER SQUARE SHOULDER

Ref. No. Description No. Off
1 Locking nut 1
2 40mm square shoulder fence side head spindle 1
3 Nut for spindie front bearing R.H. 1
4 Nut for spindle barrel front bearing 1
5 Spacer rings for bearings 2
" 6 R.H.P. paired bearings 7009 TDUF EP7 2
4 Spindle pulley (refer to motor and drive beit data) @ 1
8 Pulley spigot for spindle O 1
9 Hexagon head setscrew M12 x 45mm 0 1
10 Barrel housing 1
11 Parallel key 8mm x 7mm x 40mm long  « \Q’ 1

Sl
>
B
xO
>

$ R
&

* 'KLUBER' grease packed

www.DaltonsWadkin.com



www.DaltonsWadkin.com

SECTIONS ILLUSTRATED PARTS LIST

FIG 16 TOP HEAD SPINDLE UNIT

5=32 www.DaltonsWadkin.com



www.DaltonsWadkin.com

Wadkin

16. TOP HEAD SPINDLE UNIT - 40MM DIAMETER SQUARE SHOULDER

[LLUSTRATED PARTS LIST SECTION 3

Ref. No. Description No. Off

Locking nut

40mm square shoulder Top head spindle

Nut for spindie front bearing R.H.

Nut for spindle barrel front bearing

Spacer rings fro bearings

R.H.P. paired bearings 7009 TDUF EPY

Spindle pulley (refer to motor and drive belt data)
Pulley spigot for spindle

Hexagon head setscrew M12 x 45mm

Barrel housing
Parallel key 8mm x 7mm x 40mm long @

** 'KLUBER' grease packed 0

-
[ =+ + e = 4 | B L I RS
AR LT T T W N TR % [ M S S

- 0

www.DaltonsWadkin.com
5-33



SECTION 5

www.DaltonsWadkin.com

[LLUSTRATED PARTS LIST

FIG 1BA,

FIRST BOTTOM HEAD SPINDLE UNIT - 40MM DIAMETER SQUARE SHOULDER

534

www.DaltonsWadkin.com



16A.

Ref No.

-_tamm-qmr.nhmm_—s

www.DaltonsWadkin.com

ILLUSTRATED PARTS LIST

SECTION 5

FIRST BOTTOM HEAD SPINDLE UNIT - 40MM DIAMETER SQUARE SHOULDER

Dascription

Locking nut

40mm square shoulder near side head spindle

Nut for spindle front bearing L.H.

Nut for spindle barrel front bearing

Bearing spacer rings

R.H.P. paired bearings 7009 TDUF EP7

Spindle pulley (refer to motor and drive belt data) @
Pulley spigot for spindle O

Hexagon head set screw M12 x 45mm
Barrel housing C)
Parallel key 8mm x 7mm x 40mm long . .

'KLUBER' grease packed 8&\

%)
@\

Q’b
$ .

$$

No, Off

el R U N N T N T S

www.DaltonsWadkin.com

5-35



www.DaltonsWadkin.com

Wadki
SECTION 5 ILLUSTRATED PARTS LIST lli

17. SINGLE SIDE ROLLER PRESSURE UNIT OPPOSITE FENCE SIDE HEAD

Ref. No. Description No. Off

Bracket, single roller side pressure unit

Pin, side prassure raller

Pressure roller

Sliding shaft, pressure roller

Infeed pressure spring

Hexagon head screw, M12 x 35mm long,

Washer 12mm, bright mild steel,

'Heyco' nylon domed plug, black, 8mm hole,

Circlip, 20mm external,

Bearing, SKF 6004 2RS,

Tension pin, 8mm dia x 30mm long, @
Tension pin, 5Smm dia. x 30mm long, O

—
PoanPDAG e W=
ol ol ok ol B M) A -k s s ok

FIG 17 SINGLE SIDE ROLLER PRESSURE UNIT OPPOSITE FENCE SIDE HEAD

5-36 www.DaltonsWadkin.com



www.DaltonsWadkin.com

Wadki
' ILLUSTRATED PARTS LIST SECTION 3

18. SINGLE SIDE ROLLER PRESSURE UNIT - INFEED

Ref. No, Description Na, Off
1 Bracket single roller side pressure 1
2 Pin 1
3 Pressure roller 1
4 Sliding shaft 1
5 infeed pressure spring 1
6 Hexagon head set screw M12 x 35mm long 2
T Plain washer M12 2
8 ‘Heyco' nylon domed black plug, 8mm hole 1
9 Circlip 20mm external 1
10 Bearing "SKF" 6004 2RS 1
1 Tension pin 8mm dia x 30mm long O 1
12 Tension pin 5mm dai x 30mm long C) 1
13 Pressure bracket support plate . Qo 1
N

13

FIG 18 SINGLE SIDE ROLLER PRESSURE UNIT - INFEED

www.DaltonsWadkin.com

=37



www.DaltonsWadkin.com

Ww
SECTION 3 [LLUSTRATED PARTS LIST l

/’”x

FIG 19 ANTI-KICKBACK FINGERS

www.DaltonsWadkin.com



www.DaltonsWadkin.com

adkin

[LLUSTRATED PARTS LIST SECTION 3
19. ANTI-KICKBACK FINGERS
Raf. No. Description No. Off
1 Fork lever 1
2 Top cover @ 1
3 Rear plate O 1
4 Support rod 0 K|
5 Front plate 1
6 Infeed fingers . Q’ 69
7 Knob AN 1
8 Hexagon nut M16 6% 6
] Plain washer M16 5]
10 Hexagon socket capscrew M12 x l@mng 1
11 Hexagon nut M12 1
12 Handwheel M10 1
13 Hexagon socket grubscrew 50mm long 1
14 Thrust washer 'INA’ AS-2 72
15 Hexagon head scraws@( 5mm long 2
16 2
17 4

$ .
$$

Plain washer M12
Hexagon head s 4 x 10mm long

www.DaltonsWadkin.com

5-39



www.DaltonsWadkin.com

ILLUSTRATED PARTS LIST

SECTION 53

BOTTOM
FEED
ROLL

FIG 20 FEED ROLL DRIVES AND GEARBOXES

www.DaltonsWadkin.com

5-40



www.DaltonsWadkin.com

Wadkin
l [LLUSTRATED PARTS LIST SECTION 3
20. FEED ROLL DRIVES AND GEARBOXES
Ref. No. Description No. Off
1 Gearbox
2 Key Bmm x 8mm x 32mm long 2 per coupling
3 Coupling dia 25mm bore (complete with rubber shock)
4 Drive shaft (specify length when ordering)
5 Spare nubber shock
6 Grubscrew M8 x 8mm long 2 per coupling
T Telescopic drive shaft for bottom feed roll
B Telescopic drive shaft fot top thoughfeed rolls @
9 P.V.C. gaiter for bottom feed roll
10 F.V.C. gaiter for top through feed rolls O
11 Gruscrew M8 x 12mm long
12 Jubilee clip No. 3X (80mm) N Q*
NOTE

This illustration is only representional an@asmuld be related to the customers

own machine canfiguration.

www.DaltonsWadkin.com



www.DaltonsWadkin.com

LaTRATED 240

b

SECTION 3

e AR L

23,24,25,26

710

. e

i
©

n

14,15

22

18,21

20

17,18,19

FIG 21 NEAR SIDE HEAD CHIPBREAKER

www.DaltonsWadkin.com

5-42



www.DaltonsWadkin.com

ILLUSTRATED PARTS LIST SECTION 3

21, NEAR SIDE HEAD CHIPBREAKER AND EXTRACTION HOOD

Ref. No. Description No. Off
1 Spring clip 2
p Shaoulder pin, M16 dia 2
3 Spacer, M20 dia @ 2
4 Top cover for Near Side Head hood O 1
5 Exhaust hood for Near Side Head 0 1
6 Post . 2
7 Near Side Head chip deflector . Q 1
a Spring \ l\ 2
9 Hexagon socket capscrew, M8 x 10m 4
10 + Hexagon socket countersunk scre 10mm 2
11 Pivot pin for Near Side Head chi ar 1
12 Near Side Head and chipb oe pivot bracket 1
13 + Cup peoint grub screw, ma 4
14 Hexagon full nut, M8 1
15 Hexagon head screw, M8 %0mm 1
16 Mear Side Head shoa 1
17 + Screwed stud, 100N 60mm, M10 1
18 Washer, 10 3
19 Locking ha 0 female 1
20 Adjusting bar¥ef Near Side Head chipbreaker 1
21 dd screw, M10 x 25mm 2
22 reaker bracket 1
23 + r for Near Side Head hood 1
24 wed stud, Bmm x 25mm, M6 2
25 + 2
26 Wing nut M6 2

+ Mot illustrated

www.DaltonsWadkin.com



SECTION 5

www.DaltonsWadkin.com

ILLUSTRATED PARTS LIST

FIG 22

FENCES

YA AT

5-44

www.DaltonsWadkin.com



www.DaltonsWadkin.com

ILLUSTRATED PARTS LIST SECTION 3

22, FENCES

Ref No, Description No. Off

Short infeed fence @
Infeed fence nose piece

Hand lever plate for infeed fence O
Adjustable fence before Fence side head C)
Fixed fence before Top Head . Q’
Outfeed fence after Top Head AN

Link for short infeed table %

Pin for hand lever pivot 6

Infeed fance pivot pin @

Pivot pin for short infeed fenca

Pivot pin for short infeed fence

Thrust washer 'INA' AS 1730_ &)

e i i R e O S A T T N A S

KA & = i s
NlBoalaarontaeeNoarLN -

Collar for fence adjustment h@h

Fence adjustment ha

Spindle for fence adju handle

Locking handle &

Hexagon sock w M6 x 12 long

Infeed fance | pin

Thrust washgr\INA' AS 1226

Clampin r

Tenon fance nose piece

m countersunk screws M4 x 12mm long for nose

Plain dowel dia Bmm x 12mm long for tenon
Fence support between Fence Side Head and Top Head

B2 B
W
=% B3 B

www.DaltonsWadkin.com
545



www.DaltonsWadkin.com

_ N Wadki
SECTION 5 ILLUSTRATED PARTS LIST

ell)

AR 5 .
5 '
:n/ i =

7t

\

. &
) =) e (P
- D i meiheme v

£1'G

.'i '
WOH4 *-—

AaEad

- 1'..-""#

X084V 39, v

L

FIG 23. BOTTOM FEEDROLL DRIVE TRANSFER

5-46

www.DaltonsWadkin.com



www.DaltonsWadkin.com

Wadkin
ILLUSTRATED PARTS LIST SECTION 3

23. BOTTOM FEEDROLL DRIVE TRANSFER

Ref. No. Description No, Off
1 Support plate 1
2 Cover for chain drive 1
3 Bearing housing 1
4 Driving shaft for battom infeed roll 1
5 Top sprocket 1
6 Bottom sprocket 1
7 Support pillar for cover 2
] Hexagon head setscrew M8 x 16mm long @ 2
9 Plain washer M8 O 5
10 Chain 5/8" pitch x 57 pitches 0 1
11 Connecting link Mo, 26 . 1
12 Hexagon socket gubscrew M8 x 25mm long * Q 1
13 Hexagon socket grubscew M6 x 25mm | \ 1
14 External circlip 30mm dia 6 4
15 Internal circlip 62mm dia 2
16 Bearing 6206-2RS 'SKF' 2
17 Key 8mm x 7mm x 32mm long 1
18 Key Bmm x 7mm x 36mm lon 1
19 Hexagon head setscrew M %ﬂm long 3

QO

QD
$$

xO
>

www.DaltonsWadkin.com 5-47



www.DaltonsWadkin.com

SECTION 3 [LLUSTRATED PARTS LIST

SINGLE THROUGHFEED GEARBOX USED
WITH BOTTOM ROLL DRIVE

FIG 24

www.DaltonsWadkin.com



Wadkin

www.DaltonsWadkin.com

ILLUSTRATED PARTS LIST SECTION 3

24, SINGLE THROUGHFEED GEARBOX USED WITH BOTTOM ROLL DRIVE

Ref. No.

W~ & -

Description No. OFff

Worm shaft 1
Bearing end cap 2
End cap for feed roll drive shaft 1
Bush for feed roll drive shaft 9
Feed roll drive shaft 9
2

Bearing spacer
Gear
Shaft for worm wheel drive

Intermediate gear

Worm wheel

End cap O
Locknut 0
Bearing housing .
Bearing end cap ‘\Q
Gearbox for single feed roll %

Plug 1/2" B.S.P taper 6

Plug 1/2" B.S.P

Hexagon socket capscrew M6 x ng

Key 8mm x 7mm x 20mm

Bearing SKF 6206 ball beari

Thrust bearing SKF 51108

Bronze bush 20mm |/D @n OfD x 25mm long

Gaco spiroseal
Key 8mm x Tm

ma

Gaco oil sea

Bearing SK U6 angular contact
Toleran
Hexa ket capscrew M4 x 20mm long

socket capserew M4 x 12mm long

on socket capscrew M6 x 16mm long
Hexagon socket countersunk screw M4 x 8mm long
Key 6mm x 6mm x 30mm

i =2 - e - O N N T T N T ST S A WY

www.DaltonsWadkin.com



www.DaltonsWadkin.com

DOUBLE THROUGHFEED GEARBOX

FIG 25.

www.DaltonsWadkin.com



Wadkin

www.DaltonsWadkin.com

[LLUSTRATED PARTS LIST SECTION 3

25. DOUBLE THROUGHFEED GEARBOX

Ref. No,

Lo~ DO =L p =

Description MNo. Off

Waorm shaft

Bearing end cap

End cap for feed roll drive shaft
Bush for feed roll drive shaft
Feed roll drive shaft

Bearing spacer

Gear

Shaft for worm wheel drive

Intermediate gear

Worm wheel @
End cap

Locknut O
Bearing housing C)
Bearing end cap

Gearbox for double feed rolls

Plug 1/2" B.S.P. taper 8&

L T R (o i A8, B T T G % Y

Plug 1/2" B.S.P

Hexagon socket capscrew MB x 25
Key Bmm x 7mm x 20mm

Bearing SKF 6206 ball haanng
Thrust bearing SKF 51106

Bronze bush 20mm /D x 2@& /D x 25mm long
Gaco spriroseal

Key Bmm x 7mm x
Key 8mm x 7mm x
Gaco oil seal
Bearing SKF 7
Tolerance

o

ngular contact

*

capscrew M4 x 20mm long

ket capscrew M4 x 12mm long

cket capscrew ME x 16mm long

n socket countersunk screw M4 x Bmm long

= P b RN SRR MN 2 -

www.DaltonsWadkin.com



www.DaltonsWadkin.com

www.DaltonsWadkin.com




	20080908143712
	20080908143828
	20080908143945
	20080908144121
	20080908144255
	20080908144447



